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UGC NET 2021 Economics
Topic:- GP_24NOV_A
1) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN |P(%)IN P(%)
2016 231132 |1.64 |42 [2.60 46 [3.3 |29
2017 2.02144 172 |41 24536 [3.1 |32
2018 19839 [2.02 37 22033 [29 |31
2019 1.85[28 [2.10 43 [2.50 |42 [2.7 |34
2020 2.20133 [1.90 |46 [|2.55 30 [3.0 |35

faafafea arfersr &1 samgds afzg st = g rg want & sar g :

fag g awt & =T fire - firsr Trsat (A, B, C, D) & ua frafyamas w3 g wher / aftwfera @ ara srvafdat €Y =41 (N) (@19
®) T S q0ET F %A g9 are ety 1 wfveraar (P) fawfafaa arfoasra Srgdtr € :

s A B c D

T N P%) | N | P%) | N [P%) [N |P%)

2016 2.31 32 1.64| 42 [2.60| 46 |3.3| 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 37 |2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the total number of students who have cleared the entrance exam from 2016 to 2020 in State A.

2016 & 2020 TF AT A & TAT TOATH 6 g a1t (A=ATIHAT F1 [ G &IT ATT L ¢

[Question ID = 1161][Question Description = S2_qSNz_PG_GP14_Q01]
355460/355460 [Option ID = 4641]
364420/364420 [Option ID = 4642]
360890/360890 [Option ID = 4643]
358660/358660 [Option ID = 4644]

AN w N -

Correct Answer :-
® 355460/355460 [Option ID = 4641]

2) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN  [P(%)IN  |P(%)
2016 231132 |1.64 42 |[26046 33 |29
2017 2.0244 [172 |41 24536 |31 |32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 2.2033 [1.90 |46 [2.55 30 3.0 |35




fafafeg arfersr &1 samgds ofzw sz = R ag ot & savdifso:

fegwg awt & =1 f3rer - firsr TSt (A, B, C, D) & ua frafyamas waa adter /8 aftwferg g ara ssafyat Y g=a1 (N) (@19
®) ST I I4ET § %A 319 aT AeAfTAT #71 wfweraar (P) fAwfafas arfousr @ gt € .

fyER) A B C D

g N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 [2.45| 36 |3.1| 32

2018 1.98 39 2.02| 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |2.55| 30 |3.0| 35

Find out the average number of students who qualified in 2020 (from all states).

2020 ® (@Y TISTL /) 96 g arx Farfiay @ shag dear ara = :

[Question ID = 1162][Question Description = S2_qSNz_PG_GP14_Q02]
1. 84550/84550 [Option ID = 4645]
2. 86770/86770 [Option ID = 4646]
3. 85375/85375 [Option ID = 4647]
4. 84580/84580 [Option ID = 4648]

Correct Answer :-
® 84550/84550 [Option ID = 4645]

3) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D

Year N PN PN PN |P(%)

2016 231132 |1.64 |42 [|260 46 [3.3 |29

2017 202144 172 |41 24536 [3.1 |32
2018 19839 [2.02 37 22033 |29 31
2019 1.85|28 [2.10 43 [2.50 |42 [2.7 |34
2020 2.2033 |1.90 46 [2.55 |30 3.0 |35

fafafag arfersr &1 samagds ofzg sz A= g rg st & savdifvo:

feg g a9t & ATT T - f9w TsAT (A, B, C, D) & uF fy=afyanmey waa vlrar # gfiwfoa 9 arx srexfdat Y =1t (N) @@
®) T I q4ET § %A g9 qare e fqAT #1 wfwergar (P) fAwfafas arfasr & gt € .

s A B C D

g N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 | 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the difference between the total number of students who qualified in 2017 and the total number of students who
qualified in 2018 (from all states):

(Tt ST /) 2017 F 6 gI9 a1t FA=riHat 1 o0 d&a7 3T 2018 ® %« g a1 fratfiat Y g d=ar $71 dqC AT AL ¢



[Question ID = 1163][Question Description = S2_qSNz_PG_GP14_Q03]
1. 31750/31750 [Option ID = 4649]
2. 31880/31880 [Option ID = 4650]
3. 32220/32220 [Option ID = 4651]
4. 32340/32340 [Option ID = 4652]

Correct Answer :-
® 31750/31750 [Option ID = 4649]

4) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN  [P(%)IN  |P(%)
2016 231132 |1.64 42 |[26046 33 |29
2017 2.0244 [1.72 |41 24536 3.1 |32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 2.2033 [1.90 |46 [2.55 30 3.0 |35

frafafeg arfersr w1 samgd® afeg st = g ro ot 3 saTdifvg:

feg g awt & =7 %7 - fyw st (A, B, C, D) & ux fy=afyemnmeay wae vlrar & gftvfora 19 ara srexfdat 1 =11 (N) @1€@
H) shT 38 q0&T / %A gr4 a1x A¥Afqai #1 whaeraar (P) frefafag arfasr & Srgar € :

s A B c D

e N P% | N [ P%) | N [P%) [N [P

2016 2.31 32 1.64| 42 |2.60| 46 |3.3| 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 | 37 |2.20| 33 (29| 31

2019 1.85 28 2.10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

In which year did the highest number of candidates clear the entrance exam from State B?

g a9 & 757 B & Aforwaw dea1 A FvydfT @ vhAT § 9% § ?

[Question ID = 1164][Question Description = S2_qSNz_PG_GP14_Q04]
1. 2019/2019 [Option ID = 4653]
2. 2020/2020 [Option ID = 4654]
3. 2016/2016 [Option ID = 4655]
4. 2018/2018 [Option ID = 4656]

Correct Answer :-
e 2019/2019 [Option ID = 4653]

5) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N |P(%)|N P(%) N P(%)IN P(%)
2016 231132 |1.64 42 |26046 33 |29
2017 2.02144 [1.72 41 [24536 3.1 [32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 |22033 |1.90 {46 [2.55 30 3.0 I35




faafafag arfersr &1 samgds ofzg sz = Ry rg ot & savdifvo:

feg g auT & AT T - f9w UsAT (A, B, C, D) & uF fy=afyaney waa vlrar # giiwfora 9 ara srexfdat Y =17 (N) @@
®) ST ST q4ET § %A g9 qare AeA AT #71 wfveraar (P) fAwfafas arfasr @ gt € .

s A B C D

g N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2.02| 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the average number of non-qualified candidates in 2019 (from all states).

2019 § (@Y TSAT /) S A¥ATIIT %7 shqd §=IqT ATT HL ¢

[Question ID = 1165][Question Description = S2_qSNz_PG_GP14_Q05]
1. 135320/135320 [Option ID = 4657]
2. 144025/144025 [Option ID = 4658]
3. 137270/137270 [Option ID = 4659]
4. 139870/139870 [Option ID = 4660]

Correct Answer :-
e 135320/135320 [Option ID = 4657]

Topic:- GP_24NOV_B

1) What is the name for the technique which uses images that are often more evocative than words, and more precise and
potent in triggering a wide range of associations and thinking?

SH AHATH FTFATATH g Forad faat &7 w207 a7 SIram § 7 I74: a8 F1 A7 Aty 719 =% 7L ¢ o< faforg v s
IETAT T TIF /1 ST & arfers ats 7 afpardt ga € ?

[Question ID = 1166][Question Description = S2_qSNz_PG_GP14_Q06]

1. Brainstorming/fa=merasr [Option ID = 4661]

2. Story boarding/®=<T STE [Option ID = 4662]
3. Synectics/ TR [Option ID = 4663]

4. Mind-mapping/#TEs - &fUT [Option ID = 4664]

Correct Answer :-
e Brainstorming/fa=mzraer [Option ID = 4661]

2) The satellite used for the transmission and telecast of SWAYAMPRABHA is called

'EFTINT & F90r & T wqTTOr F AT wAT R S AT STAS FTFIA § -

[Question ID = 1167][Question Description = S2_qSNz_PG_GP14_Q07]
EDUSAT Satellite/t’g‘ﬁ’c’ 37ag [Option ID = 4665]

GSAT-15 Satellite/sfH#= - 15 3T [Option ID = 4666]

GSAT-3 Satellite/sfiéi= - 3 ITrg [Option ID = 4667]

SP-EDU-15 Satellite/Tad - Tg - 15 37z [Option ID = 4668]

A W N -

Correct Answer :-
e EDUSAT Satellite/Tgée 3Tug [Option ID = 4665]

3) Given below are two statements
Statement I: Personal competencies determine how we manage ourselves
Statement II: Social competencies determine how we handle relationships

In light of the above statements, choose the most appropriate answer from the options given below

A= T FIA RUACE



FO7 - | : f%F gaard Faifg #FTd € fFsa auardgT F4 +30 §
FO7 - Il : gravirs gaard atfia w3dt g frgaadg 9 fAama €

SYUF FIAT D AqATH q, 9 fw 17 fAHedi & | g7 ITTFT 979 FI{0Q ¢
[Question ID = 1168][Question Description = S2_qSNz_PG_GP14_Q08]

Both Statement | and Statement Il are correct/®= | & || 11 @&l & [Option ID = 4669]

Both Statement | and Statement Il are incorrect/®= | 3% || =91 Tad & [Option ID = 4670]

Statement | is correct but Statement Il is incorrect/#a= | #gl €, foeq 9+ || 7@ & [Option ID = 4671]
Statement | is incorrect but Statement Il is correct/®a7 | Ted &, foeq 2+ |l F&r € [Option ID = 4672]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/=®5 | 3% |l ==t @2r & [Option ID = 4669]

4) Match List | with List Il

List | List Il

Thinking Hat System Concepts and ldeas

A. White Hat I. Judgement and caution-the logical negative

B. Red Hat Il. Data gathering-facts, figures, information needs and gaps
C. Black Hat Ill. Provocations, alternatives and creativity-proposals

D. Green Hat IV. Intuition and emotions

Choose the correct answer from the options given below:

AT -l w7 AT -1l & gAY fifvg

g4t -l gt -l
gjf?;?; ST (R (rEETny T fa=Ty)
A. 3T ardt 1. favf &< fa=me - arfsds MY greas
B. Tt A1t Il. Y3 TG - TT, A DS, TAAT H T
) AraIAFATY ST Fiwaf
C. FTHT St . A9, faFaT HT TFATHF - geara
D. g<t 2Tt IV. staaie e qraard

A9 frg oy fasweqt & @ gt sacgfg:
[Question ID = 1169][Question Description = S2_qSNz_PG_GP14_Q09]

A-lIl, B-Il, C-IV, D -l [Option ID = 4673]
A-ll,B-IV, C-l, D -lll [Option ID = 4674]
A-IV,B-l, C-Ill, D -Il [Option ID = 4675]
A-l,B-lll, C-Il, D -IV[Option ID = 4676]

A w N =

Correct Answer :-
e A-lll,B-Il,C-IV,D-I[Option ID = 4673]

5) Which of the following are in the "Six Thinking Hats System", a form of parallel thinking?
A. Brown Hat

B. White Hat

C. Violet Hat

D. Red Hat

E. Black Hat

Choose the correct answer from the options given below:

"gg fraa vt goreft (FRrFg fE T doa fyeew) &, ST aaiar Raasr s v g, fAaffea A a sta-staa 2
A, 98 (F137) 29T

B. & ardY

C. S+t 214t

D. ATH 4T

E. ®THAT 14T

A9 frg g faseq & & 9 s9TH1 977 Vg :

[Question ID = 1170][Question Description = S2_qSNz_PG_GP14_Q10]

1. A, B and C only/#a= A, B =i C [Option ID = 4677]
2. B, C and D only/#=< B, C ¥ D [Option ID = 4678]
3. C, DandE only/#a< C, D i< E [Option ID = 4679]



4. B, D and E only/#a< B, D siiZ E [Option ID = 4680]

Correct Answer :-
e A, Band Conly/#a A, B T C [Option ID = 4677]

6) An extraneous variable is also known as

FRETITFT AT TG TTT G ATATATATE ?

[Question ID = 1171][Question Description = S2_qSNz_PG_GP14_Q11]
1. Artifact/AT9afT (swfedae) [Option ID = 4681]

2. Dependent variable/f¥ =% [Option ID = 4682]

3. Intervener/si@:&T (Z2<=17<) [Option ID = 4683]

4. Contiguous factor/®fIf2d #17 [Option ID = 4684]

Correct Answer :-

e Artifact/WTagid (Afehae) [Option ID = 4681]

7) Which of the following are advantages of observation as a tool of data collection?
A. Observation takes place only in natural settings

B. Observation methods demand the active participation of subjects in the programme
C. Observations are known for directness

D. Artificiality can be minimised in observational studies

E. Recording devices can be used in observational studies for accuracy

Choose the correct answer from the options given below:

T HAE R ITHT S ®TF Faor & Frafrfaa ¥ FNa-Fara g ?

A. g daw gTg s sfaa & grar g

B. Seror Ayt & forg srdfww & &af At afteg wrfterd Y swaeg=ar ST &

C. I TAAAT & AT ATH AT &

D. W & AeqAT # FRAAT FV =g AaH FHA1 T AFHAT ]

E. SIS AeqqTT § qErwar 3 (g RFwred w7 vt giwat (®avga’) 1o rararasars
#9 frg g ArFedt & & a8t S FT 7T FRT:

[Question ID = 1172][Question Description = S2_qSNz_PG_GP14_Q12]

. A, Band Conly/#a< A, B iz C [Option ID = 4685]
. B, Cand D only/#a= B, C =% D [Option ID = 4686]
. C, Dand E only/#aa C, D i E [Option ID = 4687]
. A, Band E only/#a< A, B T E [Option ID = 4688]

A WN -

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 4685]

8) The characteristics of a normal distribution curve are:

A. It reflects an asymmetrical distribution

B. It is bell-shaped

C. It does not show standard deviations

D. The mean, mode and median coincide at the centre of the distribution
E. The curve is based on an infinite number of observations

Choose the correct answer from the options given below:

TTATHT ST IF 1 FAATqC § ¢

A. 78 wrgafag frave w1 wiafafya sar g

B. 7g H¥&TAT EIAT R

C. 71aF fa=aa &t fygmar &

D. W&, IEAH T ATFRAFT fIqTowr & F5 7T AITAT ek &
E. % G &T TN IR MeATILT ZraT 8

Fr= few 7y fawedt & @ 9g7 STTHT 7 F19T ¢



[Question ID = 1173][Question Description = S2_qSNz_PG_GP14_Q13]

1. A, B and C only/#a= A, B ¥ C [Option ID = 4689]
2. B, Cand D only/#=< B, C #i¥ D [Option ID = 4690]
3. C, DandE only/#aw C, D ¥ E [Option ID = 4691]
4. B, D and E only/#=< B, D 3fiT E [Option ID = 4692]

Correct Answer :-
e A, Band Conly/#a A, B 3fiT C [Option ID = 4689]

9) Given below are two statements

Statement I: A variable measured at the nominal level can be used in higher-level statistics if it is converted into another
form.

Statement II: The result of the conversion process is called dummy variable.

In light of the above statements, choose the correct answer from the options given below

f= ST syafaug U :

FAT - | : ATAATAF &I I AT I HT 07 IFEaT aifeght & g1 awar g 7f 5@ wwiafa s faar sy
FIT - |l : FITTCOT FT TFHRAT B TFCOTH FT AATH 9T FFT &

SYUF FIAT B AATH §, A1 fC 1T fAFeqi & § GET ITHT AT FI{9(Q ¢

[Question ID = 1174][Question Description = S2_qSNz_PG_GP14_Q14]

Both Statement | and Statement Il are true/=®21< | 3i¥ || 21 77 & [Option ID = 4693]

Both Statement | and Statement Il are false/®9 | 3T || ZHT 9#<T & [Option ID = 4694]
Statement | is true but Statement Il is false/®=< | ¥e7 g , f=q F4 || 3T § [Option ID = 4695]
Statement | is false but Statement Il is true/F= | srcx 2, feq 27 1l 97 & [Option ID = 4696]

A WN =

Correct Answer :-
e Both Statement | and Statement Il are true/#=+ | =i || F¥1 77 § [Option ID = 4693]

10) Match List | with List Il

List | List Il

Types of Design Characterestics

IA. Solomon Four Group Design I. It is a cross-sectional design

B. Post-test only Control Group Design |ll. Contains an additional set of control and experimental groups

C. One-shot Case Study Ill. Omits the pre-tested groups altogather

D. Correlational Design IV. Observation of a single group at one point of time to observe the change

Choose the correct answer from the options given below:

g -l FY gt - F gAY v

T - T -1l

(fHrFeT & TH) (FRrerwam)

A. FITHA HTATTTYT - -

- N— l. Ig TF F1F - GFqTT ATHHT 3

B. T&oa<ia o« fag=or Il s # faf=ror s yrar s a9 gf F1¢F
g AfFeT g aqga gaTg

Il 9 - 9T a9gt 1 uiaar I aqT1

B
Iv. afcada 71 ¥ fdya #3 & forc s aaz
W TF A HT AT

13 frg g faswear & @ ggrsav AT

[Question ID = 1175][Question Description = S2_qSNz_PG_GP14_Q15]

C. 99 - U Y TLITT

D. GgH & gTHF SATHFHeT

A-l,B-Il, C-lll, D -IV [Option ID = 4697]
A-Il,B-lll, C-IV, D -l [Option ID = 4698]
A-lll, B-IV, C-I, D -l [Option ID = 4699]
A-IV,B-l,C-Il, D -lll [Option ID = 4700]

A W N -

Correct Answer :-
® A-l,B-Il,C-Ill,D-IV[Option ID = 4697]

11) The dynamics of classroom interaction can be effectively managed through

FHT A qreeafew FraT &1 afasy &7 fFas areaw & wAraqTe 7 @ v frg rarArawarg ?

[Question ID = 1176][Question Description = S2_qSNz_PG_GP14_Q16]



Verbosity/¢reaTea¥ [Option ID = 4701]

Language complexity/TaT #T STfeerdr [Option ID = 4702]

Interpreting perceived meanings/& Wt T 3=t #T =AT=AT ¢ [Option ID = 4703]
Repetitive symbolism/qaeTadt Tef=h=er [Option ID = 4704]

A W N -

Correct Answer :-
e Verbosity/¢rsarea¥ [Option ID = 4701]

12) Which of the following are myths about communication?
A. Good communicators are born, not made

B. Stage fright is not a communication apprehension

C. Communication skills have nothing to do with relationships
D. Communication has its own barriers

E. Practice leads to the right habits of communication

Choose the correct answer from the options given below:

Thgw & fowg & fAwfafagd @ s a frgsg ?

A. A=Y GITF THSTT g1 &, IATT AT ST &

B. #9 {1y Awor #7 s wT AET &

C. GYTU FIIAA FTHFET & FIS ATT - IATALT &

D. STl T 7Tt FT4TT FIAT &

E. T¥qTY & TATT # 1 TET ad amaAT &

Fr= feg g fawedi & @ 987 ITTHT 77 FI{Q ¢

[Question ID = 1177][Question Description = S2_qSNz_PG_GP14_Q17]

A, B and C only/#a A, B i C [Option ID = 4705]
B, C and D only/#= B, C 3T D [Option ID = 4706]
C, D and E only/#a= C, D 3T E [Option ID = 4707]
A, D and E only/#ae A, D #i¥ E [Option ID = 4708]

A W N -

Correct Answer :-
e A, Band Conly/#a A, B & C [Option ID = 4705]

13) Given below are two statements
Statement I: One's perceptions and beliefs are the basis of generalisation in communication
Statement II: Generalisations of the environment develop through experiences.

In light of the above statements, choose the correct answer from the options given below

fa ST Fgafrg T !

FIT - | : ATH S 79 AT GTIOME FITT H GUATAHIT  SHTTE

FAT - || : IRA T & qrareisTw agaal @ areaq & s e g

SYUF FIAT 3 AqaATH q, 9 few 17 fFHeai & § g7 ITTFT 997 FI{70Q ¢
[Question ID = 1178][Question Description = S2_qSNz_PG_GP14_Q18]

Both Statement | and Statement Il are true/®4+ | 3% |l Z41 @1 & [Option ID = 4709]

Both Statement | and Statement Il are false/®=¥ | =¥ || <41 s#<7 & [Option ID = 4710]
Statement | is true but Statement Il is false/®=7 | <7 g, fheq %o || stEer & [Option ID = 4711]
Statement | is false but Statement Il is true/®=7 | 397 g, feq Fa7 Il 1 § [Option ID = 4712]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®= | 3T || T=1 77 § [Option ID = 4709]

14) According to Robbins et al, the sequence of barriers to effective communication in an organisation is
A. Language

B. Emotions

C. Selective perception

D. Information load

E. Filtering

Choose the correct answer from the options given below



=g od o= F AT et G377 FHTE AT § A arR AqqAT FTFAG ¢
A, ST

B. WTaATd

C. IAATHS TeTHI

D. AT WIT

E. fReefir

Fr= few g fawedi & & 987 ITTHT 77 FIQ :

[Question ID = 1179][Question Description = S2_qSNz_PG_GP14_Q19]

1. A, B, D, E, C [Option ID = 4713]
2. B, C, D, A, E [Option ID = 4714]
3. D, A, E, C, B [Option ID = 4715]
4. E, C, D, B, A [Option ID = 4716]

Correct Answer :-
e A B, D, E, C[Option ID = 4713]

15) Match List | with List Il

List | List 1l
Elements of Effective Communication .
Description
IA. Common frame of reference I. Communications with people of similar background
B. Congruence Il. Use of understandable language
Ill. Messages of common interest between encoder and
C. Language relevance
decoder
D. Compatible environment IV. Compatibility between the receiver and the sender
Choose the correct answer from the options given below:
AT -l FT AT -1l § gRT™a Fivg e
gt -l gt -l
(TSTT AT F ) (FU)
A. TR T I g ooy & St @ Fwor FIAT
fareaTe
B. g gHar Il. FTFTET TTYT FHT TITT
. lll. 9% < Feags & AT amwra s
C. 99T wre frswar aur
D. sIgeT qfaqr IV. sIfUTE® T S & ST gwaar

19 frg g faseqt # @ gt sacgfg:
[Question ID = 1180][Question Description = S2_qSNz_PG_GP14_Q20]

1. A-ll,B-IV, C-l, D -ll [Option ID = 4717]
2. A-IV,B-lll,C-Il, D -l [Option ID = 4718]
3. A-l,B-Il, C-lll, D-IV[Option ID = 4719]
4. A-1l,B-lll,C-IV, D -l [Option ID = 4720]
Correct Answer :-

e A-lll,B-IV,C-I,D-Il [Option ID = 4717]

16) What number comes next in this sequence?

6,4, 2.5 1.5,7?

T gE@AT A JATAT GSIT FHIT AT ACIAT ?
6,4, 2.5,1.5,7?
[Question ID = 1181][Question Description = S2_qSNz_PG_GP14_Q21]

1/1 [Option ID = 4721]
0.5/0.5 [Option ID = 4722]
-0.5/-0.5 [Option ID = 4723]
-1/-1 [Option ID = 4724]

A w N =

Correct Answer :-
e 1/1 [Option ID = 4721]



17) How tall is a tree that is 6 meters shorter than a wall that is seven times higher than the tree?

Fg s FRaardaT @ ST ST AATLH 6 ATeTHISTE AT IS & AT AT ST 872

[Question ID = 1182][Question Description = S2_qSNz_PG_GP14_Q22]
1. 7 meters/7 H12Z [Option ID = 4725]

2. 2 meters/2 Hie¥ [Option ID = 4726]

3. 1.25 meters/1.25 H12Z [Option ID = 4727]

4. 1 meters/1 ¥iex [Option ID = 4728]

Correct Answer :-

e 7 meters/7 Hie¥ [Option ID = 4725]

18) If the selling price of X 24 results in a discount of 20% on the list price, what selling price would result in a 30%
discount on list price?

FfY X 24 3 fawT g7 w1 afom gt 777 9T 20% g §, 1 57 fawa gea w1 afora gt 77 97 30% g FrT ?
[Question ID = 1183][Question Description = S2_qSNz_PG_GP14_Q23]

21/21 [Option ID = 4729]
27/27 [Option ID = 4730]
20/20 [Option ID = 4731]
18/18 [Option ID = 4732]

A W N -

Correct Answer :-
e 21/21 [Option ID = 4729]

19) Given below are two statements
Statement I: The number 89325324 is divisible by 66.
Statement Il: The set of natural numbers is also called the set of whole numbers.

In light of the above statements, choose the correct answer from the options given below

fF A waTfRUgaCe -

FIT - | 1 §8IT7 89325324 fywrsa g 66 7

FIT - Il : TTHT GEITH 3 TLFT FT O G ATH KT ALFT AT Fgd §

SYUF FIAT D AqaATH q, A9 f¥w 1¢ fAFeqi & § g7 ITTFT 79 FI1{90Q ¢
[Question ID = 1184][Question Description = S2_qSNz_PG_GP14_Q24]

Both Statement | and Statement Il are true/®= | ¥ |l =T 77 & [Option ID = 4733]

Both Statement | and Statement Il are false/®= | =¥ || Z4T a#<T & [Option ID = 4734]
Statement | is true but Statement Il is false/®== | ¥e7 g , =g F4 || s/@<T & [Option ID = 4735]
Statement | is false but Statement Il is true/®97 | 397 g, feq Fa9 |l ¥ § [Option ID = 4736]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®=+ | &% || T=1 77 § [Option ID = 4733]

20) Which of the following statements are correct?

A. If A's speed is more than B's speed, then to travel the same distance, A will take more time than B
B. Two speeds, 1500 m/min and 90 km/hr are equal

C. By walking at a speed of 18 km/hr, the distance covered in 2 minutes and 30 seconds is 750 meters

Choose the correct answer from the options given below

Frafafaa saa7 oz fF=ae s

A FRXAFT I B FTATA | ATTF &, AT FATT IO ITFF d AFT B & Ffers 97 q3t7w
B. 3T 9Te, 1500 HT./ Tz 3T 90 f et/ &, aATAE

C. 18 et/ 5. FT 919 & & AT gY 2 72 30 s & g &7 sTAATAT T 750 HieT §
Fr= fT g fawedi & & 987 ST FTII7 #I9Q :

[Question ID = 1185][Question Description = S2_qSNz_PG_GP14_Q25]

. Aand B only/#ae A 3T B [Option ID = 4737]
. Band C only/#+ B ¥ C [Option ID = 4738]
. Aand C only/Fa+ A i C [Option ID = 4739]
. Conly/#a= C [Option ID = 4740]

A W N -



Correct Answer :-
e Aand B only/#a< A #iZ B [Option ID = 4737]

21) Match List | with List Il

List | List Il

A. If 'A"is True [l. 'E' is True; 'O' is True
B. If 'E' is True |ll. 'O' is False; 'E' is False
C. If 'I' is False [lll. ‘A" is False; ‘I is False
D. If 'O" is False|lV. 'E' is False; 'I' is True
Choose the correct answer from the options given below:

T -1 FT gt -1 F gEt v

gt -l g -l

A, FfT AT § |. 'E'q<q§; '0' T T 5

B. afy'E'wca g Il.'0' srqeT §; 'E' AA<T §
C. afy'I'staca g A" e ;| TqA 7
D. af¥ 'O wwex § IV. E' srgeq g; 'I' aea g

=2 fxg g faweai & | ggysac AT :
[Question ID = 1186][Question Description = S2_qSNz_PG_GP14_Q26]

A-IV,B-Il, C-lll, D -l [Option ID = 4741]
A-lIl,B-l,C-Il, D -IV[Option ID = 4742]
A-ll,B-Ill, C-l,D-IV[Option ID = 4743]
A-l,B-Il, C-lll, D -IV [Option ID = 4744]

A W N -

Correct Answer :-
® A-IV,B-Il,C-Illl,D-I[Option ID = 4741]

22) Match List | with List Il

List | List Il

A. Ashrayasiddha I. Sound is eternal because it is visible

B. Svarupasiddha Il. All real are momentory; sound is real; sound is momentory
C. Vyapyatvasiddha [lll. All objects are eternal because they are knowable

D. Anupasamhari IV. Sky lotus is fragrant because it belongs to the class of lotus

Choose the correct answer from the options given below:

A - FT A -1 & gRfET AT

gt -l T -l
A. stz || safy araT § #fF ag geawTT g
Il o+t areafa® afirs §; exfy areafas §; safy qforsw

&
;Ttu%'q'f%rz; . ot =27 qrET E FIfH A TG

D. srgaEeErd V. srwTe Faa gafera § #2406 ag 9w a7 F1 9380 8
19 frg g fasweqt & @ afrsacgfAw:

[Question ID = 1187][Question Description = S2_qSNz_PG_GP14_Q27]

B. Tq&EITIAE

1. A-lll, B-Il, C-IV, D -l [Option ID = 4745]
2. A-ll,B-IV, C-l, D -lll [Option ID = 4746]
3. A-IV,B-l, C-Il, D-Ill [Option ID = 4747]
4. A-1,B-lIl, C-Il, D -IV [Option ID = 4748]

Correct Answer :-
e A-lll,B-Il,C-IV,D-I[Option ID = 4745]

23) Name the fallacy committed in the argument below
"All men who understand women are potentially perfect husbands.
All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women."

TS A (FT AT YT FTATH Tq70
"wfETe FT FHAR AT THT [T GWTA €7 F araef afq
gt a9 &7 & s ofy €T & a9 o ga @



AT AT §F IR [F 2V ATLATH T GAA} 77 (RIA 8 "
[Question ID = 1188][Question Description = S2_qSNz_PG_GP14_Q28]

Illicit major/=rrer |Ter [Option ID = 4749]
Undistributed middle/3=aTa g [Option ID = 4750]
Existential fallacy/fEqeaa¥= q==rT [Option ID = 4751]
Exclusive premises/zITad® smarfear [Option ID = 4752]

A W N -

Correct Answer :-
o |llicit major/sraer |Tex [Option ID = 4749]

24) The middle term of the inference is related to the major term neither as a cause nor as an effect but because they are
uniformly related to each other in our experience, is known as

FAIATTFTIIATET & GAATE, TFRU R ETHA HTATTHTT F €T, H 4L T AR JAITT R TH AL G GATT TG ga{aqT 8
T9 FEI | ¢

[Question ID = 1189][Question Description = S2_qSNz_PG_GP14_Q29]

1. Purvavat/qdad [Option ID = 4753]

2. Sheshavat/<roaa [Option ID = 4754]

3. Samanyatodrshta/aTaT=Idrge [Option ID = 4755]
4. Pakshdharmata/™ererdaT [Option ID = 4756]

Correct Answer :-
® Purvavat/q@4ad [Option ID = 4753]

25) Pick the correct option to represent the given argument
All artists are egoists

Some artists are paupers

Therefore, some paupers are egoists

Choose the correct answer from the options given below

ferragas srenfag @ @ Mg ad gz - dvg FTIIT A ¢

AT FATHIT AZHT 3

FY FATHIIF @

AT {F TH AGHTA G

[Question ID = 1190][Question Description = S2_qSNz_PG_GP14_Q30]

1. Al - | figure/All - | s*T¥ [Option ID = 4757]
2. All - |l figure/All - 1l 3T [Option ID = 4758]
3. Al - 1l figure/All - |Il =TT [Option ID = 4759]
4. Al - IV figure/All - IV =TTZ [Option ID = 4760]

Correct Answer :-
o All- | figure/All - | T [Option ID = 4757]

26) What is the World Wide Web (www)?

€ TES AT (Www) FITE ?

[Question ID = 1191][Question Description = S2_qSNz_PG_GP14_Q31]

1. Collection of webpages stored on websites/aa|Tzel T ST Jadsii T §Ig [Option ID = 4761]
2. Interconnected networks/ T FHY ¥ = gU dza# [Option ID = 4762]

3. Hypertext processor/grzaveFee SEa [Option ID = 4763]

4. Web browser/a aT3si¥ [Option ID = 4764]

Correct Answer :-

e Collection of webpages stored on websites/3aH Tzt 9T WeTHd Fadsi & @0 [Option ID = 4761]

27) What is Ethernet?
FIT FATE ?

[Question ID = 1192][Question Description = S2_qSNz_PG_GP14_Q32]

. A protocol used by many wired LAN's. /a1 & 2 #% a1 (LAN) ZTT Y<h STerai« [Option ID = 4765]
. A protocol used for address translation/TgH giaer & forw wor<h STt [Option ID = 4766]

. A security protocol/H&T SErEie [Option ID = 4767]

. A collision-detection protocol/aferstr - fRZ=Fer Trerwie [Option ID = 4768]

A w N =



Correct Answer :-
e A protocol used by many wired LAN's. /ATt & 2 &% @41 (LAN) BT W<k STeraier [Option ID = 4765]

28) Match List | with List Il

List |

List Il

IA. System Software

I. Library Management System

B. Application Software

Il. Firewall

C. Security Software

Ill. Compiler

D. Embedded Software

IV. Automatic fridge

Choose the correct answer from the options given below:

g -l FY gt - @ gR T A

g -l =T -l

A. faTew FivEdaT I ATER & AATH e freaw
B. Ufterd or giweaa< Il. ®TaLata

C. YTHAT qIFEIT I I, F9159<

D. wi¥wrfygg atweadax Iv. Tg=Tfera fas

19 frg g fyswea & @ g sav AT
[Question ID = 1193][Question Description = S2_qSNz_PG_GP14_Q33]

A-l,B-lll, C-IV,D-Il [Option ID = 4769]
A-ll,B-IV, C-I, D -lll [Option ID = 4770]
A-lIl,B-IV, C-l,D-Il [Option ID = 4771]

1.
2.
3.
4. A-lll,B-I,C-Il, D -V [Option ID = 4772]

Correct Answer :-
e A-l,B-lll,C-IV,D-Il [Option ID = 4769]

29) Given below are two statements
Statement I: DVDs use a single spiral ‘track’ to store data working from the centre to the edge.
Statement II: DVDs are Read-only devices

In light of the above statements, choose the correct answer from the options given below

fa T FgT g !

FIT- | : STATSTH STETFT GAFRT F7 @ AT 0 AT GF FTIONHFITIIATE TN AT/ LESTFTFNTHT AT T3 §T
14 HIJT 7

FIT - Il : 7 77 T Faw - 5T (AT - ATAY) fearga &
SYUF FIAT D AqaATH q, 9 f¥w 17 fAFedi & | g7 ITTFTII9 F1{9Q ¢
[Question ID = 1194][Question Description = S2_qSNz_PG_GP14_Q34]

Both Statement | and Statement Il are true/®= | ¥ || =1 77 & [Option ID = 4773]

Both Statement | and Statement Il are false/®= | =¥ || Z4T a#<T & [Option ID = 4774]
Statement | is true but Statement Il is false/®=< | ¥7 g , =g F4 || s § [Option ID = 4775]
Statement | is false but Statement Il is true/= | sr<a g , faeq %2 || ¥ & [Option ID = 4776]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®2< | 3% || T 77 & [Option ID = 4773]

30) Which of the following statements are true?

A. Simplex data transmission is in two-directions only

B. Half-duplex data transmission is in both directions but not at the same time

C. Full-duplex data transmission is in both directions simultaneously

D. Serial data transmission is when data is sent, 8 bit at a time, over a single wire
E. Parallel data transmission is when one bit of data is sent down over a single wire

Choose the correct answer from the options given below:

frafafaad @ 78 Faaadr g ?

A. fd g STET §9T0 a9 37 R & rar g

B. e - gTAFA STST HALW 17T FRATH # AT R T TF &1 q77 § TGN
C. T0f ToAFT STEST L TH g1 AAT | 11 (9T | IAT &



D. FiaE STST HFLW T GIaAT § AT STETHT, TH AT H 8 fHT FH, THA AT AT AT ATAT &
E. 99TqTSTSTHIW IF GIAT § ST UH {94 STETHT THA q1T I AT ATAT 3

A= T g faHedi § ] 987 ST HT AT HI19Q ¢

[Question ID = 1195][Question Description = S2_qSNz_PG_GP14_Q35]

1. A, B and C only/#a= A, B =¥ C [Option ID = 4777]
2. C, D and E only/#a< C, D si¥ E [Option ID = 4778]
3. Cand D only/#=< C i D [Option ID = 4779]
4. Band C only/#== B 3T C [Option ID = 4780]

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 4777]

31) In agricultural regions, groundwater can have significant concentrations of which pollutant?

F AFT F o & 5T U FT AT ATATEI TFHATR ?
[Question ID = 1196][Question Description = S2_qSNz_PG_GP14_Q36]

1. Lead/T [Option ID = 4781]

2. Cadmium/#=fa=® [Option ID = 4782]
3. Selenium/&< =% [Option ID = 4783]
4. Nitrate/aTzZ= [Option ID = 4784]

Correct Answer :-
e Lead/HTHT [Option ID = 4781]

32) Which of the following types of power plants provide electricity consistently running 24 hrs per day, 7 days a week?

fafafag & @ fra wore s oot 997 24 =42 wfy a7 shw 7 faq ofy ga1g 9o g frafag w0 @ faost wea s<@ € 2

[Question ID = 1197][Question Description = S2_qSNz_PG_GP14_Q37]
1. Geothermal/+ - arfr= [Option ID = 4785]

2. Solar/® [Option ID = 4786]

3. Wind/7= [Option ID = 4787]

4. Hydro/st<t [Option ID = 4788]

Correct Answer :-
e Geothermal/+ - ardir [Option ID = 4785]

33) Which of the following Green House bases were the target gases whose emission was to be covered under the first
commitment period of the Kyoto protocol?

A. SO,
B. CO;
C. N2O
D. NH3
E. CHy4

Choose the correct answer from the options given below:

frafafaa # @ 17 - @Y AT R 49 3 qfHT 49 o7 RBrad @S F1 FA0E NSFHA 3 T4F TIATEAT FTAH & I0AL A Aq147
AT AT ?

A. SOz

B. CO;

C. N0

D. NH;

E. CHy4

Fra frT g fawedi § @ 987 ITTHT 99 H1{9Q ¢

[Question ID = 1198][Question Description = S2_qSNz_PG_GP14_Q38]

. A, B, Cand D only/#a A, B, C v D [Option ID = 4789]
. A, Band Conly/#aa A, B iz C [Option ID = 4790]
. B, C, DandE only/#a B, C, D ¥ E [Option ID = 4791]
. B, Cand E only/#=< B, C ¥ E [Option ID = 4792]

A W N -



Correct Answer :-
e A, B, C and D only/#a< A, B, C iz D [Option ID = 4789]

34) In India, according to Niti Ayog's SDG Index (2019-2020), which is the best performing state on SDG-9 (Industry,
Innovation and Infrastructure)

AT sraT B T ST AT gAHTF (2019 - 20) F ALATT AT F TH ST ST - 9 (SHTT, AATHATL T SHIEEHFAT) T AT TZAT
fRrsaTET F33 ATAT ST FIT - ATR ?

[Question ID = 1199][Question Description = S2_qSNz_PG_GP14_Q39]
1. Kerala/#% [Option ID = 4793]

2. Gujrat/vsrera [Option ID = 4794]

3. Karnataka/# == [Option ID = 4795]

4. Telangana/I= T [Option ID = 4796]

Correct Answer :-
e Kerala/#¥< [Option ID = 4793]

35) Identify the correct sequence of wind energy potential at 100 m above ground level in decreasing order
A. Karnataka

B. Andhra Pradesh

C. Gujarat

D. Tamil Nadu

E. Andaman and Nicobar Islands

Choose the correct answer from the options given below

SLEITH 100 W, FT FATE I I ST AATT D TG TAURT FT F1 TgATT F< ¢
A. Tafe®

B. Ser IR T

C. ST

D. aTfaeaTg

E. &A1Y 7 fasrame fgwaqg

19 frg g fasweal & & 9g) ST HT 997 Ffvrg

[Question ID = 1200][Question Description = S2_qSNz_PG_GP14_Q40]

1. A>B>C>E>D

[Option ID = 4797]
2. D>C>A>B>E

[Option ID = 4798]
3. C>A>B>D>E

[Option ID = 4799]
4, C>E>B>D>A

[Option ID = 4800]
Correct Answer :-
® A>B>C>E>D

[Option ID = 4797]

36) Match List | with List Il

List | List Il

A. Lay down standards of legal education I. NCTE

B. Maintaining the quality of technical education Il. AICTE
C. Maintenance of standards in teacher education 11l. NMC

D. Access to quality and affordable medical education |IV. BCI

Choose the correct answer from the options given below:

g -l FY gt -1 F gaRfa v

gt -l gt -l
A. fafyr farar & wras i ST l.gg a7 s




B. IFATHT FUeT AT LUa<T FT I77C T@AT t{l T HT

C. forerss frsT & ATTHRT FT 7T TGAT . T TH 9%
D. JorEwTyuf stT agT e T1vq rfpeat frgwras V. oY & e
Kl '

A9 frg oy fasweqt & @ gt sacgfo:
[Question ID = 1201][Question Description = S2_qSNz_PG_GP14_Q41]

1. A-IV,B-ll,C-I, D-lll [Option ID = 4801]
2. A-1,B-Il,C-IV, D -l [Option ID = 4802]
3. A-ll,B-lll, C-IV, D -l [Option ID = 4803]
4. A-lll,B-IV, C-l,D-ll [Option ID = 4804]

Correct Answer :-
e A-IV,B-Il,C-l,D-Ill [Option ID = 4801]

37) University of the ancient period which has been declared by UNESCO as a heritage site is:
A. Mithila

B. Vallabhi

C. Pushpagiri

D. Takshashila

E. Nalanda

Choose the correct answer from the options given below:

a1 w19 & 9 frafaaras (g gaenr 3 adg eaa aifya frar g
A. fafyar

B. eAAT

C. gsafirdy

D. g@faraT

E. AT9aT

19 frg g faswea & & 9 SO w1977 Vg :

[Question ID = 1202][Question Description = S2_qSNz_PG_GP14_Q42]

1. Aand B only/#= A i B [Option ID = 4805]
2. Band C only/#a= B ¥ C [Option ID = 4806]
3. Cand D only/#a< C 3% D [Option ID = 4807]
4. D and E only/#== D #i¥ E [Option ID = 4808]

Correct Answer :-

e Aand B only/#a< A #i¥ B [Option ID = 4805]

38) The first education commission in Independant India is:
T AT & agar fasr syaw g .

[Question ID = 1203][Question Description = S2_qSNz_PG_GP14_Q43]
1. Secondary Education Commission/®Tea{®e foreaT =T [Option ID = 4809]

2. The Education Commission/for&rr T [Option ID = 4810]

3. University Education Commission/fa=afa=rmerar farear s [Option ID = 4811]

4. National Knowledge Commission /g1 ST 3T [Option ID = 4812]

Correct Answer :-
e Secondary Education Commission/@Teate far=ar st [Option ID = 4809]

39) Gender Parity Index in higher education in India is:

NTeq # 7 frat & v aqraar guniT g

[Question ID = 1204][Question Description = S2_qSNz_PG_GP14_Q44]
1. 1/1 [Option ID = 4813]

2. 1.1/1.1 [Option ID = 4814]

3. 0.99/0.99 [Option ID = 4815]

4. 0.98/0.98 [Option ID = 4816]

Correct Answer :-
e 1/1 [Option ID = 4813]



40) Which of the following are Central Universities?
A. Dr. Babasaheb Ambedkar Open University

B. Jamia Millia Islamia

C. Panjab University

D. Punjabi University

E. University of Mumbai

Choose the correct answer from the options given below:

fafafas 9 @ i feRowasis-a €2

A. T, IIITATRT AFTH q farafazmag

B. strfarar farfeaar searfrar

C. dsrre ferafaermery

D. goirst fasafaamarg

E. ga frafaeman

= frg g faFeat # @ @t ITTHT T AT ¢

[Question ID = 1205][Question Description = S2_qSNz_PG_GP14_Q45]

1. Aand B only/#a A 3T B [Option ID = 4817]
2. Band C only/#a B i C [Option ID = 4818]
3. CandE only/#=e C si¥ E [Option ID = 4819]
4. Cand D only/#a= C % D [Option ID = 4820]

Correct Answer :-
e Aand B only/#a< A #i¥ B [Option ID = 4817]

Topic:- GP_24NOV_C

1) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TITA FT I8 T ToF & SR ¢

T AT B AT T3 AT | qraATirs QRAT FTAHT AT GATATTA H1 TIATHATE AT IT3F ITHT 9T TFH AT (AT &,
TTLT ® ATAITF AT ILIATSH HT 19 ITAT FI AT F TAT T/ I97T T FT AT IGAT§ ATATINF & GLHTA AT T
U TqE &7 g ad a8 77 F @ g geadw, waresy, gy, 9w, 9T GgrAAr AT AT FeAT0w qFAfT & 9@ R
aferier faswrw frdt 7 fFd w7 s fega e 3 gga @ 7@ @ g Saardt g & a8 &= afy favrsy g Rras 399
Freafas =77 ® gfgas vd g wfat am o gfaar sra Sidt @ gas1 aaies 9w $asT g T 5@d gt faduy
TN AT AATTATE AFAFTIRIT T F ST TEAXTATE FT SOATHAT FIA TG ITH ATHHT A [LATHATAS e § T4 o< arfersn
AFT HTEITE U [T T A ALAT T g AT TI1 R TIAZTIET R - TT AT F1T AR & 7w 98t afeF 393 wqw

TTHT T COATAT GATT FIX B T8 & €TH 39 1991 & UaAThrs &5 9T =T & ITAT FHT T avs § Fora«t swearfara o gt
faariiT =TT % 19T ITISTD FIAT I8 G5 TPIT IITS FT TG ol SIST (60T &, SAAT GIeT 6 ST FEIAT FEATETT T
g1 : 2.4 wfaag safs aafrar & 75 6.5 wfvwd g, Sreearar & 12.2 wfoaa sk a1t aai § 15 - 25 wfoaa =iy qrarfos
T ICAT A FE THL D TAT @ - eATHT Fwaamd, =77 3 e & 79 - At amafys sgivat dxssamow d gracs A
fafare gavstaT sz &=t &7 97T - Ta7fy F AT w71 =107 ATrg gav g T g7 ATty UsAT 1 qrarirs =7 77 gfag @
& T o A1 wmw A i #T& wrswrvras sk afvarda: Tar wgATE argT & 5, FHT - FHT gEL TATAT | IITEIU A G,



rarfsr® =7 § FSATaAt & g arfag afiorra? #1 wfsgarofl $Iq78 77 AT AT AT FTAATT FLATT I ATEITAF A7 F
THTT F €T H 78 AT IV TATAT FIAT TATH HEATH HT FTTAL0 HE TADT A1 AT TG TT97T

Social security programmes in India encounter the issue of

XA & qraTiors grar s wA f5q e FTATAATFAQ € ?

[Question ID = 1206][Question Description = S2_qSNz_PG_GP14_Q46]
1. Direct implementation/Yeaet FaT===I= [Option ID = 4821]

2. Indirect implementation/9=rer FTaT=aa+ [Option ID = 4822]

3. Increased government intervention/T<aTT T JAferF geaerd [Option ID = 4823]

4. Structural rearrangement/et=Td T=4a=4T [Option ID = 4824]

Correct Answer :-
e Direct implementation/seer wTateaa+ [Option ID = 4821]

2) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TITA FY I8 T ToF & ITLT ¢

TH qLT B ISR T3 AT | qUATINES YLIAT FTIHT TG GHTATTA H1 TTATHRATTE T I3F ITHT (797 TF &7 AT E,
WA ® ATA1I9F AT LTS H FT 19 ITAT FIT7AT T TAT FTF I97T T857 FT AT IGAT S ATATIHNG & GLHTA AT F7T
UF 79T &7 g orad 78« 79 7533 * g geady, warvesy, gy, 9w, a97s 9graar @ qqars 970 aiEafag § awwd
it fawm fret 7 P v d o fega ae 3 aga @d 7@ 3 g SIard g & 75 a= afy fvrey & s 399
Freafas =77 § gfgus vd g wfat am «F gfaar oo Sidt & gast uaifas gew sasT g T g@d gaarat faadas
TN AT AATTAT S AFATRE 77 @ UST gEaRaare T SOATAAT FIQ@ @A ATH ATART A LLATHATHAS arer § 59 T srfers
AFT HTEITE U AT T A ALAT T g2 AT TI1 R TIOTETLETE - T AT FT AR & g 98t afes g93 wqw

qETHT HT QUTAT TATH LA B T% & € TR aF 1991 F GO0l @ I AT/ ITAT FHT 781 o< § 7= wearfira ot a4t
faarfig =iy 3 ITaYT ITSTR FIIO TG FFA TPIT ITIT FTIET a1 SIST (§TAT &, TTAT FIeT 76 397 Ferdr sAT €99 9
g1 : 2.4 gfuaq STafF A AT & 77 6.5 Ifaqq 3, SIEATATH 12,2 WIqq7 AT ASHLT A/ 15 - 25 wfaqq =iy ararirs
A TTAT T F TF D IV § - TATAT fAwward, =77 @ a0 & 700 - Ay arafys wgfwat s weamow 2 graes &
fafars gavsray sivT gt=t &7 a7 - a9y FATTAT F71 AToF 40w gaw § AT FF AT USAT 4 qraviod w7 w7 gfug @
& frg oo A1 ®w A gfg Y & avwreras < sfarda: Yot srgAthAs argya g o, FHY - FET AR TATAT @ IIMEIW A §,
qraTirs = § FTIAT F @ i afeurat F7 wfrsgareft $Ia1 8 Ig AT AT AT FTAATT FITT I ATEITASF THTT D
TN & T H T8 AT ST STEIGTAT GIAT THATST FSATH FT FITICT FE FART AT ST TIAFT 8

The government spending on poverty reduction programmes suffers from

TOE F9 FA B FTEFAT TTAFTA @ 9 FHTHTINTT ISATR ?

[Question ID = 1207][Question Description = S2_qSNz_PG_GP14_Q47]

. High demand from prospective beneficiaries/aTT srarfi=t grer sfersk AT [Option ID = 4825]

Too many divisible allocations/agd @ faaTs7 aa=+ [Option ID = 4826]

Down-sized expenditure in real terms/aTed{a® 12 ¥ %% FF=1 72T =77 [Option ID = 4827]

Several social welfare programmes competing for funds /=TT & forT 2 TS FeaTor FTAFAT F §1= TraeTear ZHT [Option ID = 4828]

AW N =

Correct Answer :-
e High demand from prospective beneficiaries/wT=T @i grT =rférs wiw [Option ID = 4825]

3) Read the given passage and answer the following questions.



Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TATA FT I8 T TT & SR ¢

T AT B qIAS[E T3 AT | qraATirs QRaAT FTAHT ST AT GHTATTT H1 TATHATE AT 3% ITFT 9T TF A7 (AT g,
1T ® ATATITF AT ILIATSH HT 19 ITAT FI AT F TAT T/ I97T T3 FT AT IGATE ATATINF & GXHTA AT 7
TF yqE a7 g Srad 78O F9 717 @ o geadw, saresy, gy, 79w, FHTS GFIAAT M AT FATw AfEAfAq g 4@ R
aferier faswro et 7 fFd €07 s g e 3 gga @ 7@ @ g Saardt g & a8 a7 afy fvrsy g Rras gw9a
Freafas =77 ® gfgas vd g fat am o« gfaar st idt & zas1 aaiies 9w #aT g T g@d gt faguy
TN AT AATTATE AFAFTIRIT T & UST TEAXTATE FT SOATHAT FIA @A ITH ATHHTA [RATHATAS a7 § T8 o< arfersn
AfTFTRITE @ FATFTAT ALTT 8 G2 AT TN A TITEIIGTE - TT AT F1 ATA 3 forg 7t afes za9 wqa

TTHT T TATAT GATT FIA B T8 & €TA 39 1991 & UaATHrs &5 9T =T 7 ITAT FHT T s § Fora«t swearfara o gaar
faariig =TT % ITa9T ITISTP FILW I8 G5 TPIT IITS FT TG ol SIST (60T &, SAAT GIeT 6 ST FEIAT FEATETT T
g1 : 2.4 wfaag safs aafrar & 77 6.5 wfvwd g, Srgearar & 12.2 wfoaa sk a1t aai § 15 - 25 wfoaa =iy ararfos
T ILAT A FE THL D TAT @ - eATHT Awaamd, =77 3 e & 700 - fFadt amafys sgfvat sxssamow d gracs A
fafare gavstat sz at=t &7 97T - a7y F AT &1 =107 ATg gar g T g7y Aty st 1 ararirs =7 77 gfag @
& T o A1 wmw A gfE T8 wrswrvaae sk afvarda: Tar AT argT & 5, FHT - FHT gL TATAT | IITZIUA A G,
qraTirs = § FAA & @ arfeaw afcurat #1 wfrsgareft $3a1 8 I7g A1 AT AT FTAATT FSATT I TEIAS THTT B
THATN & T H T AAT TST ST TS GIAT THTS FEATH HT FTTILT HE GART AT ST JISTAT &

The expert evaluation reports are used to

st 1 geatsa faret 1 vaT fFardrar g :

[Question ID = 1208][Question Description = S2_qSNz_PG_GP14_Q48]

1. Reform the social welfare sector/FHTST FATI &= T GeTeA & forw [Option ID = 4829]
2. Support the government spending on social sector/aTHTIE &3 9% 3T ST aTer ARl =77 T THAT w7 & o7 [Option ID = 4830]
3. Strengthen the political constituency of social security/HTHTISIF HTEAT & TSIHTA e HT TSTgdT TaT9 F74 & forw [Option ID = 4831]
4. Justify banishing the social security system/STHTIS TTEAT SHET T THIT FT AT ST sg¥7 & {7 [Option ID = 4832]

Correct Answer :-
e Reform the social welfare sector/®HTST FEATT &3 % T & for7 [Option ID = 4829]

4) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.



Tt FY 9 T THT & ST ¢

TH TS P TSR T WILT § GUAviorss gaar FT4HT STATTT GHTAIST F T TAORATE T&T T (6F SAFT AT TF F a7 3fA8T9 &,
NTTT & ATATINE ST 9L qT § F1 19 1A FIfaal & 9T €78 7979 787 F7T QI EGATE QAT 87 9wt =17 /7
U Tq@ &7 g fad a8+ 77 7 @ forg geady, saresy, g1, A9, 9T GETAAT AT AATT 10w aiFAfT & 9T@we R
Fferaier fawrw frdt 7 fFd w77 so Rega e 3 ggg @ 7@ 3 g Sucardt e € ag a7 afy fvrsy g Rras 399
Freafa® =T ® gfEaes vd @ it am 1 giaar ora St & 9951 U s 9w $AS 8 T wH gHArH fyquy
M FTAAGTAT & YRAFTIAF 2T & ST TEARTATT AT AANTAAT FLQ g TTA ATAHTA LIATHFATHT 08 & 39 o T fars
P FTRITE T [T FTIA LT T GEH AT T A TATGTIGT - TT AT T AR & 0 98T 937 399 wvq@

HTHT HT LUTAT THTH FIA B q% 5 €TH 4§ 1991 & Graviors &7 70T 7 IT4T FHY 721 g § a7 wearfara ot o
fawrfia =1y 3 FTaS IT IR FIOU TG AFT TFIT ST FT AT &1 GI2T fgedt §, A7 &ret i a9 Frdt FTargwa
g1 : 2.4 wfaaa safF aafrar § 77 6.5 wfvwd g, Sreearar & 12.2 wfaaq sk a1t aai 9 15 - 25 wfaaa =iy qrarfos
FTICATH F THL D TAT§ - SATHT {wAamd, 7 3 w90 & 709% - fF3rdt arafys ygfyat sxssamow  gracs A
fafare SavstaT ST &= &7 AT - Ty FfIAT &7 |ATaF fATg gar § T [F At USAT 1 araviors =7 77 gferg @
& g o Frg ww A gfE 18 wvswrvrae s aafvarda: var swgArias avga & s, FHT - FHT gL TATAT | IITZIUA A §T,
qIATIT® AT § FTIAT & @ Ariaa afearat 7 afrsgarefy FIq18 93g AT AT AT FTIATT FITT I ATEI (A6 THTT &
TATU 3 €T F 78 AAT ST ACATAT 1T HTT FEAT HT FTTALT F AT #1 dafafy 97§

The social sector in India is experiencing
AT ® qraTirs &7 frasr srgaa $T@rg ?

[Question ID = 1209][Question Description = S2_qSNz_PG_GP14_Q49]

1. Avast amount of speculative literature/sTAT{™ T[T FT T=T H=T¥ [Option ID = 4833]

2. Upward revision of budget allocations in a few specific areas/#® fafereg &= # a=idr swael T F@m=T ST [Option 1D = 4834]

3. Increased current debt account by certain states to protect their social security measures /e TSt ZT AT TSR GLEAT SUTAT T Gierd Tad % fore
T gaT =T &0 @7 [Option ID = 4835]

4. Change in composition and patterns of social welfare/THTsT 3T & FATSA A< Fi=1 H Tfead= [Option ID = 4836]

Correct Answer :-
e A vast amount of speculative literature/sTAT= aTg]a FT F=T WST¥ [Option ID = 4833]

5) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TITA FT I8 AT T7T & ITL ¢

T TSI B A9 T3 AT | UATRCR RAT FTEHA STATT TN %1 TAfa1d 7 afoF IT9H7 or777 wah wa1 AT G,
ATLT § ATATINE AT qL AT | %1 19 G7AT w1 TqqT F FAT T F I979 7857 &7 GIT (AT S ATATING & T GLHT AT 67T
TF Tq@ &7 g fad 78+ 77 737 & o geady, Tavesy, fOq1, TGW, TOTST GETAAT AT AATT T GiEATHAT & aeawe s
Ffrmter faamn fret 7 fFE T TR T RTgI AT S I8T @ o & T STRIAT T § 78 /7 ofy fawrsa § vras ==
Freafa® = § IiEa<s vd @ it am 1 giaar ora Srdt & a9 UTH{aF 9TF FASIR § T 9H apArHt a9
T FTAAATAT g UFATIAT €T & ST GEAATATE T AATAAT HLA T ATH ATART M HATHATHS a7 & 8 T orfas
fAda FTfEaT8 VA AT FT A A%F1 @ gD AT TI1 R TITET TR - T AT FT A1 @ g gt afes 393 wqw

TTHT R QUTAT TATT FIA B q% 5 € TR 4 1991 @ Gra1Hors & 7T AT 7 IqAT FHY €1 o g a7 wearfira o a4t
g =iy % ITIYT ITSTR FILA I TFA TPIT ITITE FTIET &1 SIT (§TAT 8, TTAT FieT % 390 Fetdr saraqa 1
g1 : 2.4 wfvas stafs aafrar & a5 6.5 Ifaqq &, TITEATATH 12,2 Wiqad T MEHST I 7 15 - 25 wfwaw a=ufy qrarfirs
FTITITH FF TFL D (T § - AT FAoaqrd, =7 & Tq | 7 - fa3rdt arafys ygfrat s weamo 3 graes d
fafrs Sarsa1 ST &T=T ST AT - TATIY HSITIAAT ST ATTH (A §AT 3 AT FF AT T TSAT F ATATIG AT FT giora @
# frT o A1 & | gfg #Y & arwrvay S afyarda: Yar srgarfas arga g s, FH - FET @R TATAT @ IITF AT g,
qraThs =T ® Ferfadt & dwrfaqg afcorat 1 afasgarof F3a1] 0g 17 7T QAT KT FHTST FATT 9 ITET(AS TATT F



THTN F TTH Trg AATIST TEIATSAT FIAT TATT FEITH FT FTCAL0 FE AT H1 i qfyr 97 8

The gist of the passage is that
IE AT FTHIXEG %

[Question ID = 1210][Question Description = S2_qSNz_PG_GP14_Q50]

1. The social security system in India should be strengthened/dTd ¥ STATI FAT €T T AT T&TT F3AT AT [Option ID = 4837]

2. The social welfare system must be abandoned /& TSt FATT €T FHTH F¥ 3T =112U [Option ID = 4838]

3. In actuality, diversification funds to areas other than social welfare are justifiable/aTeaea & fAferdt &1 TaTsT Feamor 7 Ta¥ &=t § fAfFefmw sta &
[Option ID = 4839]

4. There is no evidence as to the utility of social welfare measures in India/¥Ted ® THIST FEATOT F ITTIT HT ITATRET HT FIe TATT 751 & [Option ID =
4840]

Correct Answer :-
e The social security system in India should be strengthened/<T¥a & HTHTISIE qZeAT SHawT HT TG TaTH F7AT A2 [Option ID = 4837]

Topic:- Economics_SHAAN_NOV21A

1) In case of indifference curve of two goods X and Y, as consumption of X increases:
X ST Y I TEqe & AAYATT 7% *1 RAfy &, X FTI7907 I8 3 977 ;

[Question ID = 2481][Question Description = S3_qSNz_PG_ECO_Q01]
1. MRSyy
increases/MRSxy =T &
[Option ID = 9921]
2. MRSy
decreases/MRSxy =T &
[Option ID = 9922]
3. MRSyy
remains the same/MRSxy T# HHTT ¥&dT &

[Option ID = 9923]

First MRS, increases but later on MRSy, decreases/ﬂﬂ_a MRSxy ggd ﬁ'fﬂﬁ R MRSxy
T

[Option ID = 9924]

Correct Answer :-
® MRSy
increases/MRSxy =T &

[Option ID = 9921]

2) General Economic Equilibrium is NOT related to which one of the following problems?

qraTg A dgaa Mafafag & § g aaeard gdfaaadig

[Question ID = 2482][Question Description = S3_qSNz_PG_ECO_QO02]
. Uniqueness problem/Tserdr g9+=4T [Option ID = 9925]

. Existence problem/=f¥ae T==aT [Option ID = 9926]

. Stability problem/f&raT s==T [Option ID = 9927]

. Moral Hazard problem/=fa =7 & @a<=Ts T9=aT [Option ID = 9928]

A wWN =

Correct Answer :-
e Uniqueness problem/TsedT @9=T [Option ID = 9925]

3) In the short-run production function, which one of the following is CORRECT?

Ferfafer seqrea waa &, fAufafas & @ Faradr g ?

[Question ID = 2483][Question Description = S3_qSNz_PG_ECO_QO03]

1. Technology is assumed to change as labour input changes/=THANTd & THad" & AT ARG T T FeqaT 7 J7dT 2 [Option ID = 9929]

2. Technology is assumed to change as capital stock changes/dsft =i & Tfvad & @ STafahr afade $7 et £t STt & [Option ID = 9930]

3. Technology is assumed to change positively until diminishing returns set in/gTATT AT A I TH TR F THRTHSF TRATT T FHoddT 6
ST 2 [Option ID = 9931]

4. Technology is assumed to be constant for a given production function relationship/saw IcaTad wae Haer & forw sty e g & Feaar 67 st
[Option ID = 9932]




Correct Answer :-
e Technology is assumed to change as labour input changes/= 3T H Tad= & AT STl THads T Feaar T STt g [Option ID = 9929]

4) As output expands, LAC curve falls. This is due to:

fafa & freaed a1y, T g T aF & g sndt g THFRTHRTG ¢

[Question ID = 2484][Question Description = S3_qSNz_PG_ECO_QO04]
1. Law of variable proportions/aftadt srqura fAae

[Option ID = 9933]
2. Law of diminishing returns/grasm wfawer ffae
[Option ID = 9934]
3. Economies of scale/TRHATT Ta® TATH (THIFIHFE AT Fhe)

[Option ID = 9935]
4. Diseconomies of scale/TfR#Tm g g1fa (RA-zHAITHFT T we)

[Option ID = 9936]

Correct Answer :-
® Law of variable proportions/wfadt srqara faw
[Option ID = 9933]
5) In a situation of decision under uncertainty, if a consumer faces equal expected income from two alternatives, then s/he
will take decision on the basis of

afafaaaar # swig Ao 7 77 Rafy &, 7f€ STTHT 7 7 FAF00 | TF FAT7 T 7 WATAT AT S, 798 wfwfaa q @
fope arerTT aT fAvfg H9T7 ?

[Question ID = 2485][Question Description = S3_qSNz_PG_ECO_QO05]

. Expected utility of both the alternatives/ZI=t farent T TeaTfora SaaTar [Option ID = 9937]

. Probability of risk attached with each alternative/scd= farseT & AT Hag Sirfew 1 Ffarar [Option ID = 9938]
. Variation of risk attached with each alternative/Scie fashe & AT Fag ST 3= [Option ID = 9939]

. Mean of risk of each alternative /e o= & STrta =T #TeT [Option ID = 9940]

A w N =

Correct Answer :-

e Expected utility of both the alternatives/a =t fasedt #T yearfora SwaTiET [Option ID = 9937]

6) What type of relationship the Phillips curve postulates between the rate of unemployment and the rate of increase of
money wages?

pfered g% & I ITSA  Tifas a9gdr 7 gftg v a g fra w9998 ?

[Question ID = 2486][Question Description = S3_qSNz_PG_ECO_QO06]
1. Inverse/fa=ma [Option ID = 9941]

2. Direct/9<er [Option ID = 9942]

3. Direct and proportional/¥e&1 @@ FHTUTAT [Option ID = 9943]

4. Inverse and proportional/ {3 s T AT [Option ID = 9944]

Correct Answer :-
e Inverse/Sfa<rd [Option ID = 9941]

7) The concept of 'money illusion’ was first given by whom?

THEF 97 Y GFeqar g vqw fFraa 97 ?

[Question ID = 2487][Question Description = S3_qSNz_PG_ECO_Q07]
1. Milton Friedman/fee sfi=f= [Option ID = 9945]

2. Irving Fisher /33 fikere [Option ID = 9946]

3. Robertson/TrarEa+ [Option ID = 9947]

4. J. M. Keynes/sr.tq. 1= [Option ID = 9948]

Correct Answer :-
e Milton Friedman/ffees sfiz@= [Option ID = 9945]

8) Which one of the following correctly describes the concept of ‘Super Multiplier'?

fafafeg 9 @ 'afaqgus #1 dFe7a1 F7 I 00T F1T FETE ?

[Question ID = 2488][Question Description = S3_qSNz_PG_ECO_QO08]
1. Investment multiplier/faer 7o [Option ID = 9949]



2. Money multiplier/=fs= o [Option ID = 9950]
3. Interaction between multiplier and accelerator/3[" 3 @<= % == 3fa: fFaT [Option ID = 9951]
4. Employment multiplier/ZISNTTe 3o [Option ID = 9952]

Correct Answer :-
e Investment multiplier/f=rer 7o [Option ID = 9949]

1=50+02Y
S=-150+04Y
G =50
Where | = Investment, 5 = Savings
G = Government Expenditure
¥ = National Income

What is the equilibrium level of national income?

Ha:

1=50+0.2Y
S=—150 + 0.4Y

G=50

EP

| = 9= : s = §gd

G = WoHRI g

Y = fPF E

TPY 341 BT HIoH TR A7 ?

[Question ID = 2489][Question Description = S3_qSNz_PG_ECO_QO09]
1. 2500/2500 [Option ID = 9953]

2. 1250/1250 [Option ID = 9954]

3. 250/250 [Option ID = 9955]

4. 1500/1500 [Option ID = 9956]

Correct Answer :-
e 2500/2500 [Option ID = 9953]

10) The independence of real variables from changes in money supply and nominal variables is called :
a1 g s arfars a3 / afada @ areafas a0 #1 ead7ar w1 fawfafaa & ) sarsgraarg ?

[Question ID = 2490][Question Description = S3_qSNz_PG_EC0_Q10]

1. Keynesian dichotomy/F=aaral fgwmere [Option ID = 9957]
2. Classical dichotomy/#TfEriar f«rsi= [Option ID = 9958]
3. Money illusion/%Tfse 9w [Option ID = 9959]

4. Money multiplier/#Tfae o [Option ID = 9960]

Correct Answer :-
e Keynesian dichotomy/F=a=T<t {3 [Option ID = 9957]

11) Assuming the probability of a male birth as 0.5, find the chances that a family of 3 children will have two boys and one
girl

TR ST FT FATAITFT 0.5 ATT FI, TH FATIAT FT 497 77 36 3 g7 a1/ 7fXa< & 7 195 7 ¢F arfawr gv
[Question ID = 2491][Question Description = S3_qSNz_PG_ECO_Q11]
.11

i 0O



L &

[Option ID = 9961]
2. 22

g8

[Option ID = 9962]

88

[Option ID = 9963]
4 43

88

[Option ID = 9964]
Correct Answer :-
.11

88

[Option ID = 9961]

12) Which one of the following measures of central tendency will be the most appropriate to use if the data relates to
rates, proportions and ratios?

7f¥ i T, TETLATT T AT @ AT § 97 707 7 F FYT @ ATTS FT TIIA FLAT T IHF ITLH ZI7 ?

[Question ID = 2492][Question Description = S3_qSNz_PG_EC0_Q12]
Arithmetic Mean /si=Tfortir |12 [Option ID = 9965]

Median/@Tfea=T [Option ID = 9966]

Harmonic Mean/gZTcH# ATeT [Option ID = 9967]

. Geometric Mean/SaTHdT |17 [Option ID = 9968]

AW N -

Correct Answer :-

e Arithmetic Mean /3ot |Ter [Option ID = 9965]

13) The sampling distribution of mean based on a sample of 13 units selected without replacement shows a variance of 5
units. If the population consists of 49 units, estimate the variance of the population

sfaearas & faar gafag 13 goreat 3 us e o< arerfeag wfowgw frawo 19187 5 30wt &1 fraww qafar g afy
FAHEIT ’ 49 THTAT g, IT IA6 @47 & 4T &1 srapar 10y ¢

[Question ID = 2493][Question Description = S3_qSNz_PG_ECO0_Q13]

1. 80.67/80.67 [Option ID = 9969]
2. 84.87/84.87 [Option ID = 9970]
3. 86.67/86.67 [Option ID = 9971]
4. 86.87/86.87 [Option ID = 9972]

Correct Answer :-
e 80.67/80.67 [Option ID = 9969]

14) In the classical linear regression model, X; and U; are assumed to be:

FATIHHTT XETT FATHIAATSAR X AT Ui R IR A Feqar T AT f 3 :
[Question ID = 2494][Question Description = S3_qSNz_PG_ECO_Q14]

highly correlated/sreafers @gwag g [Option ID = 9973]

not correlated/sg#=Z =1 g [Option ID = 9974]

positively correlated/HaTeTeH® &7 & Hgwaa & [Option ID = 9975]
negatively correlated/TTaTcA= =7 ¥ HgHa5 ¢ [Option ID = 9976]

A W N -

Correct Answer :-
e highly correlated/s=Ifer Tgw=r3 & [Option ID = 9973]

15) Identify which one of the following statements is INCORRECT?

Fafafed & & 79T FIT FT TG HIC

[Question ID = 2495][Question Description = S3_qSNz_PG_ECO_Q15]
1. Intersection of two disjoint sets is a null set/aT EI< THFAT FT THIFEFA ¥ T94g7T & [Option ID = 9977]
2. Complement of a Universal set is a null set/S® ST TgT T T2 &< a9g7 g [Option ID = 9978]

3. IfXﬁYz-:p.rhen)(--Y#X/qﬁ'XﬁY =¢Eﬁ X—-Y#X

[Option ID = 9979]
4 X-Y=Xn¥/X—-Y=XnY



[Option ID = 9980]

Correct Answer :-
e Intersection of two disjoint sets is a null set/=T STEI<H THFAT FT TA[FEA (<6 TFT g [Option ID = 9977]

16) Given y = X3 — 12%2 + 36X + 8, identify which one of the following is CORRECT:

Uad y = X3— 122+ 36X + 8,

fFrafeiRad o @ 981 B Ug=H $ife -

[Question ID = 2496][Question Description = S3_qSNz_PG_ECO_Q16]
1. yis maximum at X = 6, and minimum at x = 2/X = ¢ TR Y AAGIT G AR x= 2 WY :Qﬁﬂﬁ%

[Option ID = 9981]
2. yis minimum at X = g, and maximum at X = 2/X = 5‘51?‘?:%31:[%'31:1? K= WYW%

[Option ID = 9982]
3. y has two inflexion pointsatx=2andx=6/Y P x=2 G'TT{)(: ﬁmaﬁﬂﬁrwﬁaﬁaﬁgﬁ’

[Option ID = 9983]
4. Point of optimality is indeterminate/z=a+ fag =rff=ra & [Option ID = 9984]

Correct Answer :-

® v is maximum at ¥ = ¢, and minimum atx:zf)(:ﬁfﬂ\fﬁr@ﬁﬁ%’aﬁ? X:zﬂ?\’:‘lﬁﬂﬁ%

[Option ID = 9981]

17) ldentify which one of the following statements is CORRECT:

fawfafaa 9 @ ot 797 1 wgamA FAfvw :

[Question ID = 2497][Question Description = S3_qSNz_PG_ECO_Q17]

1. A'lis equal to Adj (A) if the value of the determinant A is unity/A" Adj (A) % T9T9 & e faivs A #7 gog warteafa (FET) T [Option ID = 9985]

2. If two columns of a determinant are interchanged, the sign of the determinant does not alter/=f% U= fFuie® & a1 FiAT T TEq Tfegfad #7 &Zar
STaT 7, feies =71 foeg 78 agrar g [Option ID = 9986]

3. The value of a determinant changes if the rows and columns are interchanged/af% WfxFat siiv Ffert #1 qeeaw afvafdd % & srar g 91 Fafes #1970
& STaT & [Option ID = 9987]

4. Law of division is allowed in matrix operations/&fea s=mer & farsrei & £ srafy & [Option ID = 9988]

Correct Answer :-
e Ais equal to Adj (A) if the value of the determinant A is unity/A™" Adj (A) & &am & =f Frerfeh A %7 qog wwifeata (zfET) & [Option ID = 9985]

18)
Identify which of the following statements with respect to Linear Programming Problem (LPP) is CORRECT:

W Traras gaear (ga 1t ) 3 gy 7 fafafag 7 @ a@ a7 7 og== Fifvm

[Question ID = 2498][Question Description = S3_qSNz_PG_ECO_Q18]

1. A solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints/= % TaeT & TeT
AT AT TET ATeaqTar g7 T HATeH & Fiqe g §, a7 g O O & qureny a5 g [Option ID = 9989]

2. If Ais a primal problem and B is its dual, then dual of B is not A/=f% A T =nf% @aqeaT & T B 3H#T g7 &, AT B FT T AFEl & [Option ID = 9990]

3. The constraints of an LPP in standard form is always expressed in less than and equal to form/®Tae =7 § Ter W O #T aTeaaqTd ZHAT 7 ST/ 3727
THTT & = § AfSr=7<h grar & [Option ID = 9991]

4. If an LPP has two optimum solutions, then it has also infinite number of optimum solutions/=f% f&=T wer @t ¥t % 2T T2 FATL § 97 =6+ AfAaq dear
¥ Taw T S § [Option 1D = 9992]

Correct Answer :-
e A solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints/=fs THeaT & THeT
AT THTE THAT qTeAaTsH greT Toa S & $ia g §, 97 ver O ff & s9rens sarag € [Option ID = 9989]

19) The Net Barter terms of trade refer to:

AT Y g T+ fafaaa gz aqardt g -
[Question ID = 2499][Question Description = S3_qSNz_PG_EC0_Q19]

. The excess of import expenditures over export earnings/fR=Td IUTSIAT 9% ATATT =441 FT AT [Option ID = 9993]

. Trade agreements/=ITaT¥ FHEATT [Option ID = 9994]

. The ratio between export prices and import prices/fafd FHaT 3fiv swaTa Frwat & == F7 AaTa [Option ID = 9995]

. The terms and conditions on which a country is offered a loan in the event of balance of payments difficulties/fAae s oIt S/ 9% U= 9T &1 qIraTT
T HT FisArTeat it fRafq & o 37 F7 w=ara B w7 § [Option 1D = 9996]

A w N =



Correct Answer :-

e The excess of import expenditures over export earnings/f=Ta SUTSIHT 9% 3TATT =741 &7 3IAEFT [Option ID = 9993]

20) The items on the capital account of Balance of Payments are:

ST AqAT R gl @ra #1772 § ¢

[Question ID = 2500][Question Description = S3_qSNz_PG_ECO_Q20]
Flow variables/waTg =< [Option ID = 9997]

Stock variables/¥={® =¥ [Option ID = 9998]

Changes in stock magnitudes/¥=f= TR®TT & Fa=Ta [Option ID = 9999]

Both Stock and Flow variables/Z =t ¥ 3T yaTg =< [Option ID = 10000]

A W N -

Correct Answer :-
e Flow variables/waTg =¥ [Option ID = 9997]

21) A sudden shift from import tariffs to free trade may induce short-term unemployment in:

JAATT TLFF & TFH AT FT AT FAATTE ST ALFTIAF ST F1 F567 A ART FLAFATR
[Question ID = 2501][Question Description = S3_qSNz_PG_ECO_Q21]

Import competing industries/sraTa-sfaeTef =Tt [Option ID = 10001]

Industries that are only exporters/3¥ I=T & ST Fa<T fAaids & [Option ID = 10002]

Industries that sell domestically as well as export/3d S=IRT & ST sl T¥a &Y ST aTg] F¥q¢ 9 &7 w7 € [Option ID = 10003]
Industries that neither import or export/3® ST | ST 7 dT 2T 3% 7 g f4=ria #2a & [Option ID = 10004]

A W N -

Correct Answer :-
e Import competing industries/3rTa-Sfa=Tef =Tt [Option ID = 10001]

22) The optimum tariff means:
TEAH TLEh _THTAT % :

[Question ID = 2502][Question Description = S3_qSNz_PG_ECO0_Q22]
1. Must occur in the elastic range of the tariff imposing home country's offer curve/S[e® @RI AT HT ST & TEATT A I ATAETE HHT & AT & ST g
[Option ID = 10005]
2. Takes account of the probability that the partner country will retaliate with protective measures of its own /@R ¥ AT 39T TH HATAAT T LT
7T o ARfETT 39T ST T & HeAr wraet & | Widw #9m [Option 1D = 10006]
3. Maximises total export sales of the imposing country/@R[ &7+ aTer 39T & &qur A=t bt 1 srfaerrfas F¥ar & [Option ID = 10007]
4. Must occur in the elastic range of the partner country's offer curve/sETT 39T & YEqTT 9% Tl @=a1< S@T & Sae 21§ [Option ID = 10008]

Correct Answer :-

e Must occur in the elastic range of the tariff imposing home country's offer curve/S<[e @Y ATl B I9T & TEATE a7 6T ATAGIL HIHT & HIq< g1 2T g
[Option ID = 10005]

23) The movement from old level of expenditure and taxation to a new and higher level is called:

FT AT FOGTT D A €T H AT M IFAT EATHT AT HEAAT KT FATHGTATATE ?
[Question ID = 2503][Question Description = S3_qSNz_PG_ECO_Q23]

. Concentration effect/® = I9Ta [Option ID = 10009]
. Inspection effect/f<teror = [Option ID = 10010]

. Displacement effect/fa®=ma=r woTar [Option ID = 10011]
. All of the above/37d & & @+ff [Option ID = 10012]

A W N -

Correct Answer :-
e Concentration effect/& =T w91 [Option ID = 10009]

24) Which method can help in obtaining a welfare improvement, if externalities exist?

gfy argard sifRges 7 gt g, a1 fafafag /@ sra-at &ty searor gae St oy & gagrasgrasa € 2

[Question ID = 2504][Question Description = S3_qSNz_PG_ECO_Q24]

. Pigovian taxes/favTfea= %% [Option ID = 10013]

. Regulation/fafs=w= [Option ID = 10014]

. Assigning property rights and permitting bargaining/&vI=T SIf&IsT¥ YaT FTAT ST HI-ATF FT STAATT 34T [Option ID = 10015]
. All of the above/3IT4 & & ¥ [Option ID = 10016]

A W N -

Correct Answer :-

e Pigovian taxes/fiTIfara= &% [Option ID = 10013]

25) The efficiency condition in the production of pure public good requires that the production be carried out up to a point
when:



{where MB; represents Marginal Benefit of the 'it"" individual and MB;j represents Marginal Benefits that accrue to the 'jt"
individual and MC is the marginal cost}

faqg ardwfas aeq F Soarew # cagar Rafy 3 fvg g sraferg g O scarew swfarg v I T@T ST ST :

gt MBi , (i) =T & Hiatq a1 F 1 Iqiar g , sHT MBj EraTa AT ST (j) =% a= & f~ra grat g 71 zafar g, st MC "i=ia
AT

[Question ID = 2505][Question Description = S3_qSNz_PG_ECO_Q25]

n=1 n-1
- MBi+ ) MB, =r»1r:ffw.la:-+ZMHj = MC
j=1 =1
[Option ID = 10017]
n-1 n—1
2. MB;;‘FEME;‘ > MC }JMH["' MHJ > MC
i=1 J=1

[Option ID = 10018]
n-—1

n-1
MB,+ ) MB, < MC/MB; + Z MB, < MC
=

ey
1=1
3. n-1

MB; — Z MB; > MC
i=1
[Option ID = 10019]
n—1
MB; — Z MB; > MC
j=1

n—1
/MB; — MB; > MC
j=1

[Option ID = 10020]

Correct Answer :-
n=1 n-1

* MB + Z MB; = MC/MB; + Z MB; = MC
=1 =1
[Option ID = 10017]

26) The incidence of which of the following will entirely be on the monopolist?

faafafeg 9 @ &17 a1 gafararaare a3 g avg srafaq g :

[Question ID = 2506][Question Description = S3_qSNz_PG_ECO_Q26]
1. Lump-sum tax/U#qd ¥ [Option ID = 10021]

2. Specific tax/faforg < [Option ID = 10022]

3. Regulated monopoly pricing/fafa=fira =i gea= [Option ID = 10023]

4. None of these/z=# & #T< gl [Option ID = 10024]

Correct Answer :-
® Lump-sum tax/TFHYT F [Option ID = 10021]

27) Which of the following is NOT a Commercial Bank?

fafafaa d @ sra s arrisas dF 9818 ?

[Question ID = 2507][Question Description = S3_qSNz_PG_ECO_Q27]
1. Public Sector Bank/fTas &= & [Option ID = 10025]

2. Private Sector Bank/fsft &= & [Option ID = 10026]

3. Regional Rural Bank/&=t=r 3mfior & [Option ID = 10027]

4. Co-operative Bank/@g=T<r &% [Option ID = 10028]

Correct Answer :-
e Public Sector Bank/@Tast{= &= &% [Option ID = 10025]

28) Liquidity Adjustment Facility (LAF) was recommended by

FIAAT FHTATIT Y IIaT (TF T wh) #1 fRrwrfeer s 71 .



[Question ID = 2508][Question Description = S3_qSNz_PG_ECO_Q28]
1. C. Rangarajan Committee /T “arzrer= affa [Option ID = 10029]

2. Raghuram Rajan Committee/T=¥T® 715 &fafd [Option ID = 10030]

3. Narasimham Committee - |l/7=f&z® @1f# T 1l [Option ID = 10031]

4. Bimal Jalan Committee/fawer STe &rf&fa [Option ID = 10032]

Correct Answer :-
e (. Rangarajan Committee/t Firersi A& [Option ID = 10029]

29) Which of the following is TRUE for Bank Rate?

IR IR | Mefafasd staadig ?

[Question ID = 2509][Question Description = S3_qSNz_PG_ECO0_Q29]

1. Increase in Bank rate by Central Bank would increase money supply keeping other factors constant/#=a &% 2% # 3 Ta¥ F13a1 & oo vad gu amgfd
T g7 =37 [Option ID = 10033]

2. Bank rate is a qualitative instrument/&% 3% T# J[UITcH® IT%20T (3¥gHe) @ [Option ID = 10034]

3. Bank rate is the minimum rate at which the Central Bank provides credit to financial institutions against securities of the government/d% 3% ag
aH 77 g S o adT % avwn wfagfa & awor fAf st #°1 %o 77w #7902 [Option 1D = 10035]

4. Bank rate is a direct instrument of credit control/d=F =% @T@ fA==(01 T TF To7eT ITFLT ¢ [Option ID = 10036]

Correct Answer :-

o Increase in Bank rate by Central Bank would increase money supply keeping other factors constant/##1a &% 2% # gfa gav Fea! &1 &% T@q gu arfa
T g7 =77 [Option ID = 10033]

30) Human Development Index (HDI) currently, as published by the UNDP is calculated by using which of the following?

g T T o7 g1 TH 0T AT (AF19 gIHis (A T ) ¥ ad A9 7 frwfafaa § § fras ST G107 70T 7 AT ?

[Questlon ID = 2510][Question Description = S3_qSNz_PG_ECO_Q30]
Geometric Mean /ST ATex [Option ID = 10037]

Arithmetic Mean/si=Tfure 1= |77 [Option ID = 10038]

Harmonic Mean/gZTcHe ATed [Option ID = 10039]

Quadratic Mean/ =T AT [Option ID = 10040]

AWN—\

Correct Answer :-
e Geometric Mean/saTfrt= |1 [Option ID = 10037]

31) Harrod-neutral technical progress is necessarily:

0T MOy aearE fawra safardar
[Question ID = 2511][Question Description = S3_qSNz_PG_ECO_Q31]

Growth augmenting/®gf =& g [Option ID = 10041]
Labour augmenting/=T9 H=¢% g [Option ID = 10042]
Capital augmenting /ISt a4 & [Option ID = 10043]
Resource augmenting/dHT4s H=¢= & [Option ID = 10044]

A WN -

Correct Answer :-
e Growth augmenting/®gfi =& g [Option ID = 10041]

32) Which among the following is NOT part of the neoclassical theory of growth?

frafafeg 9 @ STTagfa @ T99- Farfrdg RgiasTammadi g ?

[Question ID = 2512][Question Description = S3_qSNz_PG_ECO0_Q32]
1. Swan Model/¥aT¥ At=w [Option ID = 10045]

2. Meade's Model/#1= == [Option ID = 10046]

3. Pasinetti Model/&ffgT #iz=r [Option ID = 10047]

4. Solow Model/#TaT #iee [Option ID = 10048]

Correct Answer :-
e Swan Model/®aTa #iger [Option ID = 10045]

33) If a production function admits both Harrod and Hicks neutral technical progress, the elasticity of substitution should be

T F1E ST FA7T 4T q FEFa Meder gttt wwfa 91 era1< 3q7 § a1 eararafy «ra atatyg g arfye .

[Question ID = 2513][Question Description = S3_qSNz_PG_ECO_Q33]
equal to one/T & THTT [Option ID = 10049]

equal to zero/<[= & HHTT [Option ID = 10050]

equal to infinity/3r=d & 9T [Option ID = 10051]

equal to one divided by two/T# =T a1 & FHT= [Option ID = 10052]

AW N =



Correct Answer :-

e equal to one/T# & FHTT [Option ID = 10049]

34) The total population of city X' in 2011 was 28 lakhs and the total number of live births was 50 thousand. Find out
crude birth rate per 1000 population

2011 § qET X F1 | STAG&AT 28 AT 9T AT FA ATTaq (AL FT FSAT 50 AT AT AT AT A8 &4T I FLATTAT ST=HET
TqT AITEY ?

[Question ID = 2514][Question Description = S3_qSNz_PG_ECO_Q34]
1. 178.57/178.57 [Option ID = 10053]

2. 1.7857/1.7857 [Option ID = 10054]

3. 17.857/17.857 [Option ID = 10055]

4. 0.17857/0.17857 [Option ID = 10056]

Correct Answer :-
e 178.57/178.57 [Option ID = 10053]

35) According to Ronald Coase, which of the following statements is CORRECT for pollution control?

Trates w1 & Fgare ygue g g Fefafas saat & sra adt §2
[Question ID = 2515][Question Description = S3_qSNz_PG_ECO_Q35]

Providing property rights to the state/¥Ts% T |ufx & S(fa=H1¢ Y= F7AT [Option ID = 10057]

Providing property rights to the legal institutions/fafer et 7 §uf=r & srfaere w1 #%=7 [Option ID = 10058]
Providing property rights to polluters and pollutees/Sgu 3ii¥ TEiUa T HURY & Af&FT TaT= FTAT [Option ID = 10059]
Providing property rights to Trade Unions/=/& &=t &7 §9=T & If&=RT¥ &1 #¥A1 [Option ID = 10060]

A W N -

Correct Answer :-
e Providing property rights to the state/¥Tsa &1 Sqfxr & sffersTe TaT= F¢aT [Option ID = 10057]

36) According to Census 2011, which one of the following states has the highest share of rural population?

Y 2011 § FTAAOAT & AL fFrafofaa & & fT UsT0 | qrAtor ana 1t sTHa{faw g ?

[Question ID = 2516][Question Description = S3_qSNz_PG_ECO_Q36]
1. Bihar/fagm [Option ID = 10061]

2. Odisha/#ifzer [Option ID = 10062]

3. Uttar Pradesh/3<¥ w=9r [Option ID = 10063]

4. Himachal Pradesh/f@@m==r wgor [Option ID = 10064]

Correct Answer :-

e Bihar/fag™ [Option ID = 10061]

37) At present, for the estimation of GDP in India at constant prices, which one of the following years is used as the base
year?

FIAATT & AT F ST ST I 3 R FA77 9T swwa7  fog Fra Fafaig af w1 argmead @ 087 g7 FFarsrarg ?

[Question ID = 2517][Question Description = S3_qSNz_PG_ECO_Q37]
2011-12/2011-12 [Option ID = 10065]
2010-11/2010-11 [Option ID = 10066]
2014-15/2014-15 [Option ID = 10067]
2000-01/2000-01 [Option ID = 10068]

A WN =

Correct Answer :-

® 2011-12/2011-12 [Option ID = 10065]

38) Which of the following statement is CORRECT for 'Atmanirbhar Bharat Rozgar Yojana' launched on November 12,
20207

12 99T 2020 FT AT FT T ‘AeATAHT FTIT AAT DFAT F G A el d @ sraqarsa7 9t g ?

[Question ID = 2518][Question Description = S3_qSNz_PG_ECO_Q38]

1. Establishments which make new hires will get a subsidy to cover retirement fund contribution by employees and employers for 2 years/™ T ST
giora we ater afrgmt a1 Far Ay @fE # faret 7 wi=tEt & o & 7 § <7 a9 a5 o ggrar @enft [Option ID = 10069]

2. Establishment will get a subsidy of Rs.10 crore for a period of 5 years/SfagT 1 5 a9 & srafer & forw 10 g w0 §iT o7 @graar fHerfl [Option ID =
10070]

3. Establishment will get tax profit continously for a period of 3 years/YTAgT T @A §17 F6T & forT T ¥ =17 f¥eww [Option ID = 10071]

4. Establishment will get tax subsidy for 5 years. /SIS T 5 901 9% F< U7 AT (¥Rl [Option ID = 10072]

Correct Answer :-



e FEstablishments which make new hires will get a subsidy to cover retirement fund contribution by employees and employers for 2 years/dT TSRIT

giora Fa arer wfasTt #1 a7 gty @ § st 7 #H=tat & stear £ 92 § 27 a9 3% 77 Fgraar f#enft [Option 1D = 10069]

39) The 15t" Finance Commission ( FC ) has recommended that the States be given what per cent of the divisible tax pool
of the Centre during the period 2021-2022 to 2025-26?

15 9 F3rT & (T §T) F Aqar 7 8 96 2021-22 § 2025-26 #1 AT & ST (AT FT dvg & (AATST I A T
gfaag fearS19

[Question ID = 2519][Question Description = S3_qSNz_PG_ECO_Q39]
1. 51/51 [Option ID = 10073]
2. 31/31 [Option ID = 10074]
3. 41/41 [Option ID = 10075]
4. 61/61 [Option ID = 10076]

Correct Answer :-
e 51/51 [Option ID = 10073]

40) Which of the following sectors of the economy registered highest growth rate in the second quarter of 2020-21 as per
estimate of NSO?

FdsaeaT & fAafafyg & & 5T &=7 & a9 2020-21 F: g@d fardt # garg gz avss g d uva aifead srafaa 3
AHST B FLAT ¢

[Question ID = 2520][Question Description = S3_qSNz_PG_ECO_Q40]

1. Manufacturing/ff=wTo [Option ID = 10077]

2. Electricity, Gas, Water supply and other Utility services/fa=q, & sarsmqfd @ st o=t F4rd [Option ID = 10078]
3. Agriculture and Allied sectors/%f 7 &= &= [Option ID = 10079]

4. General Administration/dmHT= F9md= [Option ID = 10080]

Correct Answer :-
e Manufacturing/fafs=for [Option ID = 10077]

41) Which of the following measures are used by a risk-averse person to minimize risk?
A. Diversification of resources

B. Insurance of risk event

C. Total cost of resources

D. Value of information of risk event

Choose the correct answer from the options given below:

Tifya & g9 gt AW g AT FTgaaa F@ @ g AafRmd asta- I saFa«ma g ¢
A. FETHTT FT afaegFETw

B. SrfEw weAT &t 14T

C. GHTHT FT A ATIT

D. SIT&® FTTT HT SATAFTL KT LT

= fro e faseat 7 @ gt INTHFTITT MRT ¢

[Question ID = 2521][Question Description = S3_qSNz_PG_ECO_Q41]

A, B and C only/#a A, B iz C [Option ID = 10081]
A, B and D only/#=<T A, B i D [Option ID = 10082]
B, C and D only/#a= B, C f= D [Option ID = 10083]
A, C and D only/#a= A, C 3T D [Option ID = 10084]

A W N -

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 10081]

42) Which of the following statements are CORRECT for welfare economics?
A. Any competitive equilibrium leads to a Pareto efficient allocation of resources
B. Competitive equilibrium does not lead to Pareto efficient allocation of resources

C. Any efficient allocation can be attained by a competitive equilibrium given the market mechanism leading to
redistribution

D. There will be no Pareto efficient allocation of resources in the society



Choose the correct answer from the options given below:

fafafaa a8 @ F17 - § F97 w0 qfqrer S T AT ?

A. Prdt et g & Tl FT IR - IF ASET graT g

B. w7 1eft qaAT & ERqTHTT FT IR - T MG T 71 gral g

C. ATATT AT & AT A F 7oq A AT & F4E I AT ITH FTAFAT R
D. GATH ® THTHIT FT HIE IRAT - T G T 7T §IAT

= fro e faseat 7 @ gt ITNTHT 7T MRAT ¢

[Question ID = 2522][Question Description = S3_qSNz_PG_ECO_Q42]

1. A, B and C only/#a= A, B %% C [Option ID = 10085]
2. Aand C only/#a= A % C [Option ID = 10086]
3. Band C only/#ae B i C [Option ID = 10087]
4. Cand D only/#a= C 3w D [Option ID = 10088]

Correct Answer :-
e A, Band Conly/#a A, B 3fiT C [Option ID = 10085]

43) Which of the following conditions hold true for factor pricing when factor market is perfectly competitive and product
market is monopolistic?

A. VMP > MRP

B. Both VMP and MRP decreasing
C. VMP < MRP

D. MRP_. = W

Choose the correct answer from the options given below:

fretafaa 8 & w7 -8 Rafaat sarara Fra Fator $ ™ g € afs sTrem ara goiaar wfoersT § s store e
gHTfamTiE § ?

A. VMP > MRP

B. VMP ST MRP ZIAT & AT {B &

C. VMP < MRP

D.MRP_ =W

=3 YT g fawedi & § 987 ST FTII9 HI{9Q ¢

[Question ID = 2523][Question Description = S3_qSNz_PG_ECO_Q43]

. A, Band Conly/#=<T A, B ¥ C [Option ID = 10089]
. B, Cand D only/#== B, C ¥ D [Option ID = 10090]
. A, Band D only/3= A, B siw D [Option ID = 10091]
. A, Cand D only/#a= A, C 3T D [Option ID = 10092]

A W N -

Correct Answer :-
e A, Band C only/#a A, B 3T C [Option ID = 10089]

44) Which of the following functions will result in an investment multiplier of value 4?
A.C=50+.25Y

B.C=50+.75Y

C.S=-50+.25Y

D.1=50+.75Y

Choose the correct answer from the options given below:

rafafReg waat & frasr afvomm o a7 A3 a0 qus g, SEsrarm4 R
A.C=50+.25Y

B. C=50+.75Y

C.S=-50+.25Y

D.1=50+.75Y

F= feg g fawedi & & 987 ITTHT 77 FI{9Q :



[Question ID = 2524][Question Description = S3_qSNz_PG_ECO_Q44]

A and C only/#=< A 3T C [Option ID = 10093]
C and D only/#=< C 3 D [Option ID = 10094]
A and D only/#a< A T D [Option ID = 10095]
B and C only/#a= B 3fi= C [Option ID = 10096]

A WN -

Correct Answer :-
e Aand C only/#a= A ¥ C [Option ID = 10093]

45) Which of the following are CORRECT?

A. If observations are selected purposively, it is called a method of non-random sampling

B. If observations are selected in an ad-hoc manner, it is called a method of non-random sampling

C. If observations are selected in a systematic manner it is called a method of non-random sampling

D. If observations are selected on the basis of judgment, it is called a method of non-random sampling

Choose the correct answer from the options given below:

Mefafaa & 4 T saa9gT8 ?

A, IFE QT FTIAT AT LT 7, AT 34 AL AT 0% afa=waa & fafy sgramarg

B. f¥ Seqvii &7 937 a3 w7 & Frar q1a71 8, 7 39 4% - FIrgias vfowas #1 Aty sgramar g

C. fX ot FT 7977 gATRYT T 7 FFI7 777 §, I¥ 38 AT Arg=ags afc=rza 1 frfr sgrararg

D. af¥ Sgut w7 77 frofa & swat 9T fFrar 1At g, a7 3/ 4% - argfas vioaaT #1 Aty sgramar g
Fr= fT g fawedi & & 987 ST FT 97 FI9Q :

[Question ID = 2525][Question Description = S3_qSNz_PG_ECO_Q45]

A, B and C only/#a A, B i C [Option ID = 10097]
B, C and D only/#a B, C T D [Option ID = 10098]
A, C and D only/#a A, C & D [Option ID = 10099]
A, B and D only/#=T A, B =i D [Option ID = 10100]

A W N -

Correct Answer :-
e A, Band C only/#a< A, B 3T C [Option ID = 10097]

46) Which are the following correct features of matrices?
A. An identity matrix is a square matrix
B. An identity matrix when gets transposed remains an identity matrix
C. (A.B)T = AT.BT where A and B are matrices
D. (A1) = (AT)~* where A is a matrix

Choose the correct answer from the options given below:

frofeiad o 4 3ice & 9l s a1 8 ?

A. U dIGIed A U 31 ARt B

B. U%h dGTed e U&= 814 W dreled Afes 81 war gl
C. (A.B)T = AT.BT 5181 A 3R B AT B

D. (o™Y)T = (AT)"* Tl A U@ AT &

i< feu e fasedl © U U8l IR & 90 DL ;

[Question ID = 2526][Question Description = S3_qSNz_PG_ECO_Q46]
A and B only/#a< A =T B [Option ID = 10101]
B and C only/#=< B 3fT C [Option ID = 10102]
A and C only/#a< A 3T C [Option ID = 10103]
C and D only/#a= C 3T D [Option ID = 10104]

A W N -

Correct Answer :-
e Aand B only/#a< A 3T B [Option ID = 10101]



47) When the exchange rate changes from 1$ = Rs. 72 to 1$ = Rs. 68, then the:
A. Rupee has depreciated
B. Dollar has depreciated
C. Rupee has appreciated
D. Dollar has appreciated

Choose the correct answer from the options given below:

g fafaaaars 1 @Ey) = 5. 729 19T =%. 68 ¥ uRafda grarg 9« :
A. T0T 3 YT | e grat g

B. ST & = & fxrae gt g

C. T & g # gfg qrat &

D. TTAY R YT ¥ i ST &

= fag 7y fawedt & @ 9 ST HT 7 FQ ¢

[Question ID = 2527][Question Description = S3_qSNz_PG_ECO_Q47]

A and D only/#a« A 3T D [Option ID = 10105]
B and C only/#=< B fT C [Option ID = 10106]
C and D only/#=< C 3% D [Option ID = 10107]
A and B only/#a A siiT B [Option ID = 10108]

A w N =

Correct Answer :-
e Aand D only/#ae A T D [Option ID = 10105]

48) Which of the following are a source of market failure?
A. The existence of public goods

B. The presence of externalities

C. The fact that some goods are rivals in consumption

D. The existence of monopolies

Choose the correct answer from the options given below:

fafafea d @ #17 - graR Aeaars1E1a ¢ ?

A. aTdafas aege #1 sfRa<a

B. aTgraTat 1 sufearfy

C. 7g 7=7 {77 Feqd STHIT A wfaeasT @

D. THTIAHTY &7 srfdqs<a

A9 frg g fasea & & 9 sSwTHT 937 FAfvrw:

[Question ID = 2528][Question Description = S3_qSNz_PG_ECO_Q48]

1. A, B and D only/#a< A, B i D [Option ID = 10109]
2. A, Band C only/#a< A, B 3T C [Option ID = 10110]
3. B, C and D only/#== B, C #Z D [Option ID = 10111]
4. A, Cand D only/#=< A, C 3% D [Option ID = 10112]

Correct Answer :-
e A, Band D only/#a< A, B 3T D [Option ID = 10109]

49) Which of the following would reduce the credit creation capacity of a Commercial Bank?
A. Time and Demand deposits

B. Loans

C. Deposits with the Central Bank

D. Cash in hand

Choose the correct answer from the options given below:

frafafaa @ 9 fva - fra 3 o0 amirfas 9 1 10 g7 G931 F7 1T AT ?
A. grafay g Aiw AT



B. =W

C. F7NT IF F qTH TAT

D. T & Tt

= fRro e faseat 7 @ gt ITNTHT 77 MAT ¢

[Question ID = 2529][Question Description = S3_qSNz_PG_ECO_Q49]

A and B only/#a A 3T B [Option ID = 10113]
B and C only/#a= B 3fi= C [Option ID = 10114]
C and D only/#a C ¥ D [Option ID = 10115]
A and D only/#=< A 3T D [Option ID = 10116]

A W N -

Correct Answer :-
e Aand B only/#a< A &% B [Option ID = 10113]

50) Which of the following measures would result in an increase in the money supply in the economy?
A. Purchase of government securities from the public by Central Bank

B. Deposit of currency in Commercial Banks by the public

C. Borrowing by the government from the Central Bank

D. Sale of government securities to the public by the Central Bank

E. Minting of more money by the Central Bank for circulation

Choose the correct answer from the options given below:

fufafaa @ 9 f5T ISUTaT * waeawy srfsraeyr & qar arqfd & gfey e 2
A. 70T 5 g0 FATATT & FIHFTA wiogfaat 71 @i

B. SIATETIW FTTT ATFNFST® 5T 7 LIT TAT FIAT

C. AFR G FAT 5 & T AAT

D. T &% FTAT TAATTIN FT FIHTH vzt #1 fasr

E. 07 &% grar afxmrad & fag stfers gar gars /7 ggor

1= feg g faweat & & ot ST HT 9779 FfNT

[Question ID = 2530][Question Description = S3_qSNz_PG_ECO_Q50]

A, C and E only/#=< A, C ¥ E [Option ID = 10117]
B, C and D only/#a= B, C ¥ D [Option ID = 10118]
A, B and C only/#=<T A, B ¥ C [Option ID = 10119]
B, D and E only/#a= B, D =¥ E [Option ID = 10120]

AW N =

Correct Answer :-
e A, CandE only/#a< A, C 3% E [Option ID = 10117]

51) Inequalities in income are measured by which of the following?
A. Lorenz Ratio

B. Theil's Index

C. Palma Ratio

D. Deprivation Ratio

Choose the correct answer from the options given below:

faafafea 9 fvasd g1 sta / AqqTaqTs FTATITIATATE ?

A. IS ST

B. 379 AHIH

C. ITSHT ALUTA

D. 9 ALATA

€= frg g faseat # 4 agt ST 999 fwfvrg «

[Question ID = 2531][Question Description = S3_qSNz_PG_ECO_Q51]

1. Aonly/#a A [Option ID = 10121]

2. Aand B only/#a A #iiT B [Option ID = 10122]

3. Aand D only/#=< A 3fT D [Option ID = 10123]

4. A, Band C only/#ae A, B =T C [Option ID = 10124]



Correct Answer :-
e Aonly/#a« A [Option ID = 10121]

52) Which of the following is/are true?

A. Ministry of Environment and Forests in India was established in 1985
B. Central Pollution Control Board was established in 1984

C. Environment Protection Act was enacted in 1990

D. National Environment Appellate Authority Act was passed in 1977

Choose the correct answer from the options given below:

afafRrgd a7 - Fraagr g ?

A, AT § IO F FT HATAT FT TITIAT 1985 & g¥ o1

B. FTT wgwor Ao 1< AT TATTAT 1984 F g AT

C. watazor dzaror sfarfraw 1990 § sreew gar a7

D. TrEfta watawor sdfteft writraw<or stferfaraw 1977 9 arfea gar 9t
A= feg 7y fawedt & @ 9 ST HT 977 FI™

[Question ID = 2532][Question Description = S3_qSNz_PG_ECO_Q52]

A, B, C and D only/A, B, C ¥ D [Option ID = 10125]
B only/#== B [Option ID = 10126]

C only/#=< C [Option ID = 10127]

Aand D only/#a« A ¥ D [Option ID = 10128]

A w N =

Correct Answer :-
e A, B, CandD only/A, B, C 3% D [Option ID = 10125]

53) In which of the following ways have there been structural changes in agricultural and rural areas in India?
A. Crop diversification within agriculture sector

B. Diversification from livestock to crop husbandry

C. Diversification from non-commercial crops to commercial crops

D. Diversification from traditional inputs to modern inputs

Choose the correct answer from the options given below:

frafafaa & @ fa st @ g / gy stcardto a1 § giwmrg ofadagu g ?
A. Y & ¥ s fafydimor

B. e & @t - ATt FT AT ffrefiweor

C. AT - ATIATIAF ®HAT & ATATATIAF wAAT #1 AT fafarefiwzo

D. ki srarat & swefas swwvat 31 A< frfefia<o

1= feg g faseat /@ & ot ST HT 9779 FfNT

[Question ID = 2533][Question Description = S3_qSNz_PG_ECO_Q53]

1. A, C and D only/#a< A, C 3T D [Option ID = 10129]
2. A, Band C only/#a< A, B 3T C [Option ID = 10130]
3. A, Band D only/#a< A, B 3T D [Option ID = 10131]
4. B, C and D only/#a= B, C &= D [Option ID = 10132]

Correct Answer :-
e A, Cand D only/#a< A, C &% D [Option ID = 10129]

54) With reference to the programme 'NIDHI' which of the following statement(s) is/are CORRECT?
A. The programme of 'NIDHI' was started for students to begin startups

B. Its aim is to financially support 20 students for startups each year

C. Its aim is to financially support 200 students for startups each year

D. Its aim is to financially support only students of backward classes to start up each year

Choose the correct answer from the options given below:



fafyr (ga s St ua ard) FAF9 F g3t 7 fawfafa® @ 517 - @ sgaadi € ?

A. Tty wrfEa faafiay & fag eerd - o7 sy F79 # e gorar w7

B. THFT SLIT T&TE - AT & forg graw 20 fr=rridat 1 fa<fiwr agraqr sxar g

C. TAFT IL LT T2 - AT & forg gT aw 200 frarfd=at a1t <o aygraar #aT8

D. THFTITLT TTE - A7 & T gT a¥ Haw fugs 7wt & frarfiat a1t foia agraar Far g
= fro e faseat 7 @ gt ITHFTIIT MRAT ¢

[Question ID = 2534][Question Description = S3_qSNz_PG_ECO_Q54]

A and D only/#a= A 3T D [Option ID = 10133]
A and B only/#a= A 3% B [Option ID = 10134]
A, Cand D only/#a= A, C &% D [Option ID = 10135]
C and D only/#=e C i D [Option ID = 10136]

A W N -

Correct Answer :-
e Aand D only/#a A 3T D [Option ID = 10133]

55) Which of the following statements are CORRECT in regard to FDI in India in FY 2020?
A. Share of services sector is highest

B. Share of infrastructure activities is highest

C. Share of computer hardware and software is in the second position

D. Share of telecommunications is highest

Choose the correct answer from the options given below:

afafea 8 @ 17 - @ Fa7 fFAfig ad 2019 - 2020 # 91T & voyw fasdt Mg F g7 a5t g ?
A. BT &7 571 gear afawaa g

B. aruTia® do=aT harwarat #71 fyeqar afaysaw &

C. T FIE AT T Wivea X %71 fyear fedta eara av &

D. gTE =TT %7 fgear afyFaw &

= feg 7y fawedt & @ 9 STTHT AT HH0C ¢

[Question ID = 2535][Question Description = S3_qSNz_PG_ECO_Q55]

. Aand C only/#ae A &iir C [Option ID = 10137]
. B and C only/#=< B 3w C [Option ID = 10138]
. Bonly/#a= B [Option ID = 10139]

. Cand D only/#a C 3% D [Option ID = 10140]

A w N -

Correct Answer :-
e Aand C only/&ae A T C [Option ID = 10137]

56) Consider the following statements about the rational expectations model :

A. Monetary policy cannot affect output and employment

B. Unanticipated changes will not affect real variables in the very short run

C. There is equilibrium in the markets

D. Economic agents use all relevant available information to form their expectations

Choose the correct answer from the options given below:

arfs® gearaT Atew ® IR ¥ fRufafas 997 9z faae Ao :

A. #rfes Jfy faeta s e &7 watfag 9 sTasdt

B. arfy o srafyy & areafasw a0 w7 srwearfrg sgwra warfaa adf w3

C. I § "wge #1 fRafy g

D. =wf¥s sifdrawat (ASe) stoy weAterTsl #71 sHTT I F THT ATTT STASY FAATS T TEAATT HIAT §
A= feg 7y fawedt & @ 9 ST HT 77 FI™ ¢

[Question ID = 2536][Question Description = S3_qSNz_PG_ECO_Q56]

A, C and D only/&a= A, C % D [Option ID = 10141]
A, B and C only/#= A, B &< C [Option ID = 10142]
B, C and D only/#a B, C T D [Option ID = 10143]
A, B, Cand D/A, B, C &i¥ D [Option ID = 10144]

A wWwN =



Correct Answer :-
e A, CandD only/#ae A, C &% D [Option ID = 10141]

57) In the context of investments, which of the following statement(s) is/are CORRECT?

A. According to the accelerator model, investment demand is proportional to change in income
B. The higher the real interest rate, the higher is the rental cost of capital

C. Investment is a stock variable

D. The real rate of interest is equal to the nominal rate of interest plus the inflation rate

Choose the correct answer from the options given below:

s grasf 7 AafafRrg saaid saaagre £ ?

A. @IF AT * FTAR I 717 307 § @I AT &

B. fora«T &t areafas =rsr 2T oty graft STA7 T g #¥ fHerar avwa srfdrs gl

C. fag us Teis 9T ]

D. TS %71 ATEATIH T ATT AT ATHF TT AT CAIEHITT T AHTA AT 17 B FOFT ZIAT
1= feg g fasweat / & gt STTHT 977 MfoC

[Question ID = 2537][Question Description = S3_qSNz_PG_ECO_Q57]

A and B only/#a A 3% B [Option ID = 10145]

A and D only/#=< A 3fT D [Option ID = 10146]
B and C only/&a< B 3T C [Option ID = 10147]
C and D only/#=e C % D [Option ID = 10148]

A W N -

Correct Answer :-
e Aand B only/#a A &7 B [Option ID = 10145]

58) Which of the following statements are CORRECT for correlation analysis?
A. Degree of linear association is measured between two variables

B. Predictability is not part of correlation analysis

C. Spearman has no contribution to correlation analysis

D. Cause and effect relationship is established through correlation analysis

Choose the correct answer from the options given below:

geaay Fguw A Aafafaa ® @ $t9 @ s g ?

A. T 90 F 9 s g 1 2T FrA79T SATAT B

B. QAT w71 aTHed ggaa g FFTw £ 1977 A8

C.9g - 9oy fAguw & & Ruawda FT1HFIE M7 98T &

D. g - s fAFTU & ATeTH § FTLO AT WHATT FT Fa g w17 Frar srar &
Fr= feT 7y fawedt & § 987 STTHT 77 FT ¢

[Question ID = 2538][Question Description = S3_qSNz_PG_ECO_Q58]

1. Aand C only/F=< A 3% C [Option ID = 10149]
2. Band C only/#a= B 3fi C [Option ID = 10150]
3. Aand B only/#=<T A #iT B [Option ID = 10151]
4. Aand D only/#a A 3w D [Option ID = 10152]

Correct Answer :-
e Aand C only/#ae A T C [Option ID = 10149]

59) Which of the following are NOT properties of Cobb-Douglas production function?

A. Cobb-Douglas production function is a homogeneous production function

B. Curves representing average and marginal productivity of inputs are not downward sloping

C. Marginal productivity of labour and capital in Cobb-Douglas production function are functions of the capital-labour ratio
D. Iso-quants of Cobb-Douglas production functions are positively sloped

Choose the correct answer from the options given below:



rafafea 8 & 747 - 7T FIT - STAT ITYTIT GAT D [UAGT & ?

A. FIT - STAH STITIA FAT TF AATATT STATIT FAA

B. ST #7T T T HIATT STITEHAT FT TIATATATT FIF aTH T AYTLET AT TR &

C. FIT - STAY ITATIT FAT & FH T IS A1 ATHTT STUTIFAT TH - AH ALATT FT HFAT &
D. FIT - STAY ITYTIA FAT % TH - ICATIFH IF (AZAT - FISH) TATHTF €T 4 AAT &
= fro e faseat 7 9 gt ITHTITT MRAT ¢

[Question ID = 2539][Question Description = S3_qSNz_PG_ECO0_Q59]

. A and B only/#a A 3T B [Option ID = 10153]

. B and D only/#=< B 3w D [Option ID = 10154]
. Band C only/#a+ B ¥ C [Option ID = 10155]
. Cand D only/#ae C & D [Option ID = 10156]

A W N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10153]

60) Improvement in the balance of payments deficit may be effected through:
A. Import controls

B. Export promotion

C. Foreign exchange control

D. Devaluation

Choose the correct answer from the options given below:

TATTT AT A 9T § FHI g FATFHFATATAFATE ?

A. sraTa Ao

B. faafa Sreare

C. farzeft ar fA=ror

D. ATHIT

= fag 7y fawedt & & 9 ST HT 77 FIQ ¢

[Question ID = 2540][Question Description = S3_qSNz_PG_ECO_Q60]

. A, B, Cand D/A, B, C 37 D [Option ID = 10157]

. Aand B only/#a= A 3% B [Option ID = 10158]

. Cand D only/#=< C i D [Option ID = 10159]

. A, Band C only/#aw A, B T C [Option ID = 10160]

A w N -

Correct Answer :-
e A, B, CandD/A, B, C =T D [Option ID = 10157]

61) Which of the following are relevant conditions assumed by the Factor Price Equalization theorem?
A. The countries are characterized by different factor endowments

B. The countries are characterized by different production functions

C. The industries are characterized by different factor intensities

D. Each country will export the commodity which uses its abundant factor

Choose the correct answer from the options given below:

TIGT FIAT GAIT AFTT F07 P9 a9 gavet T ATATATATR ?

A. 3 25 Fafss araT SeTsd e Y fAawar aa €

B. & <91 T fafywer Seutes wwraf 1 AAwararer €

C. & g=nw &t fafdrer raa dtgar 1 fFrgwar a9

D. Wea%F 97 aEq 3l w71 faafa FTT 9T T8 T ATIT FT ITAT FIQ &
A= feg 7y fawedt & @ 9 ST HT 77 FI™ ¢

[Question ID = 2541][Question Description = S3_qSNz_PG_ECO_Q61]

1. A, B and C only/#a A, B &% C [Option ID = 10161]
2. A, Cand D only/#== A, C 3T D [Option ID = 10162]
3. A, Band D only/#a= A, B iz D [Option ID = 10163]
4. B, Cand D only/#a B, C = D [Option ID = 10164]



Correct Answer :-
e A, Band Conly/#a A, B 3fiw C [Option ID = 10161]

62) Zero Based Budgeting (ZBB) lays emphasis on:

A. Allocation of resources based on cost-benefit terms

B. Unlimited deficit financing

C. Preparing a new budget right from the scratch

D. Preparing the budget, neglecting the history of expenditure

Choose the correct answer from the options given below:

A YT IFeT (FT &1dT) g acaaIang :

A. JITT - ATH AAT I AGTIT FATHTT I AT ana e

B. sretfaT afest forw sraear

C. ThT & AYT IFE FATIAFTT FATT FIAT

D. =T & TIAETH #T ITHT FIT L IE AT FIAT

= fro e faseat 7 9 gt ITNTHT 7T MRAT ¢

[Question ID = 2542][Question Description = S3_qSNz_PG_ECO0_Q62]

A, B and C only/#a< A, B 3T C [Option ID = 10165]
A, C and D only/#a= A, C 3fT D [Option ID = 10166]
B, C and D only/#a= B, C = D [Option ID = 10167]
A, B and D only/#a< A, B 3w D [Option ID = 10168]

A W N -

Correct Answer :-
e A, Band C only/#a A, B i C [Option ID = 10165]

63) Which of the following statements are relevant for Gender Budgeting?
A. Preparing a separate budget for women

B. Gender budget is not practised by the Government of India

C. Evaluating budgetary provisions with a gender perspective

D. Gender budgeting is a tool for Gender Empowerment

Choose the correct answer from the options given below:

o srartfog aafer @exawfen) 7 fao frafafag saaid @ Fraataa € ?
A. Afg@Tst # forg g a5t ga7AT

B. 9T GLHTT GIXT A ST TS TATH &1 LI AT

C. forr (Sev) afthen @ 919 957 3 WTTATAT FT LeTTHT

D. f&rw (Fex) gadisew & fy SesxaafeTusF qraa s 74 §

1= feg g faweat & & ot ST HT 9779 FfINT

[Question ID = 2543][Question Description = S3_qSNz_PG_ECO_Q63]

1. Aonly/#a« A [Option ID = 10169]

2. Aand D only/#ae A i D [Option ID = 10170]
3. Cand D only/#=< C 3fi D [Option ID = 10171]
4. A, B, Cand D/A, B, C &% D [Option ID = 10172]

Correct Answer :-
e Aonly/#a A [Option ID = 10169]

64) Which of the following are true for the Environmental Kuznets Curve (EKC)?

A. The relationship between Income and Environmental damages take the shape of an inverted U

B. EKC is applicable in case of irreversible environmental damage

C. EKC holds true for global pollutants

D. EKC hypothesis intends to represent a long term relationship between economic growth and pollution

Choose the correct answer from the options given below:



T AT FAT aF (ST * g5 | MAfAfag § & $17 - Fraagr g ?
A. T T gaiafiT afy & fig w1 ddg Radeqg U STAFR F IAaT8

B. srycATad A1 watawefi7 &1fy & Arad § AT AT ]

C.afam wguai F Gag R SR AT AT &

D. £ & AT &1 WTHwAT MIT* dgfEg 7 wguwr & = Frufafyr dda a3 #1 3
= fro e faseat 7 @ gt ITHFTITT MR™T ¢

[Question ID = 2544][Question Description = S3_qSNz_PG_ECO_Q64]

A and B only/#a A 3T B [Option ID = 10173]
A and D only/#=< A 37T D [Option ID = 10174]
C and D only/#a C i D [Option ID = 10175]
A, B, Cand D/A, B, C fw D [Option ID = 10176]

A W N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10173]

65) Which of the following statement(s) is/are CORRECT for environmental evaluation?

A. Travel cost method measures the recreational values of Environmental Resources

B. Hedonic pricing is used for environmental amenities associated with property values

C. Replacement cost method is used by substituting natural resources with a man-made equipment
D. Defensive expenditure deals with preventive measures

Choose the correct answer from the options given below:

Ttaeefty srwaT & foe frafafaa & @ si7 - fFi7 8 saaadir g ?

A. FTaT AT A fy aafacefta dargat 797 - fAarg ger s Aaredt |

B. q@ATHS =7 fAgTTU FT I GOixy =7 & "o forg gatawoiia giyarst & g frarsrar g

C. sfvegras raa e $1 w7 wrg fos davgat 1 arag i awger & vfvenfa sTfRarsrar?
D. T&TeH® =7 q faaTew SuTai & g« fag g

= fag 7y faswedt & @ 9 ST HT 77 FIQ :

[Question ID = 2545][Question Description = S3_qSNz_PG_ECO_Q65]

A and B only/#a A 3% B [Option ID = 10177]

B and C only/#a= B 3fi= C [Option ID = 10178]
C only/%=< C [Option ID = 10179]

A, B, Cand D/A, B, C ¥ D [Option ID = 10180]

A w N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10177]

66) Match List | with List I

List | List Il

A. Perfect competition I. Many real or perceived differences in products
B. Monopoly Il. Little or no difference in products

C. Monopolistic competition|lll. Identical products

D. Oligopoly |IV. Product without close substitutes

Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gAY ffvg .

gt -l g -l

A. ot gfeeast I. ST A AAF FTETTAD AAFT ATA AT A AT
B. THTIAFTT 1. ITUTT H AT AAFT F1S FAL T 14T

C. uHTfIrsTd afoeagt Il goedt StaTe

D. SreqTfy®1T Iv. fase sqweT & faa1 3eare

A9 frg g fasweqt # @ gt sacgfg:
[Question ID = 2546][Question Description = S3_qSNz_PG_ECO_Q66]

A-1I,B-1V, C-1,D -l [Option ID = 10181]
A-1l,B-1,C-1l,D- IV [Option ID = 10182]
A-11,B-1V, C-I, D - Il [Option ID = 10183]
A-1ll,B-1V, C-1I,D- | [Option ID = 10184]

AW N =

Correct Answer :-



e A-Ill,B-1V, C-1,D -l [Option ID = 10181]

67) Match List | with List I

List | List Il

A. Menu cost I. Monetary Policy|
B. Quantitative Easing Il. Inflation

C. Pump Priming lll. Phillips curve
D. Trade-off between inflation and unemployment|lV. Fiscal policy

Choose the correct answer from the options given below:

g -1 FY gt -1 F gAY A

gt -l gt -l

A. A AT I wYfs difa

B. HTATEH® LaAAAT Il. gaTedhtia

C. ardwfas srfasrw . fsforea a%

D. TETEHRITT T IS IV. TS A

A9 frg g fasweqt # @ g sacgfo:
[Question ID = 2547][Question Description = S3_qSNz_PG_ECO_Q67]

A-1,B-1,C-1IV, D - Ill [Option ID = 10185]
A-1,B-1l,C-1ll, D - IV [Option ID = 10186]
A-1I,B-1V, C-1,D- Il [Option ID = 10187]
A-1V,B-1ll, C-1I, D- | [Option ID = 10188]

A w N -

Correct Answer :-
e A-Il,B-1,C-1V,D- Il [Option ID = 10185]

68) Match List | with List I

List | List Il

A. Carl Friedrich Gauss

I. Central Tendency

B. Multicollinearity

Il. OLS

C. Mode

lll. Karl Pearson

D. Correlation coefficient IV. Relationship among explanatory variables
Choose the correct answer from the options given below:

T -l Fr gt -1 § gaRfa e

gt -l gt -l

A. wTet wefoa Tig I 57 wgfr

B. aga@R faar Il. T T U

C. TgAF . w1t frada

D. GgHS T TWF IV. TrgsTd 940 & S99

19 frg g fasweqt # @ gt sacgfAw:
[Question ID = 2548][Question Description = S3_qSNz_PG_ECO_Q68]

A-1V,B-1,C-1I, D - lll [Option ID = 10189]
A-1l,B-1V,C-1,D -l [Option ID = 10190]
A-11,B-1V, C-1ll, D - | [Option ID = 10191]
A-1,B-1V,C-1,D-Ill [Option ID = 10192]

A wWw N =

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 10189]

69) Match List | with List Il

List |

List Il

IA. Convex Function

|. Basic Variable

B. Input-Output Analysis

Il. Use of Derivative

C. Linear Programming

Ill. Hawkins-Simon condition

D. Marginal Propensity to Consume [IV. Demand Curve

Choose the correct answer from the options given below:

T - Fr gt -1 F gERtYw i

gt -l

=T -l

A. ST BAT

I gq 9%

B. swra - fAda g

Il =geaw (FRaAfea) w1907




C. = WA Il gifeeg qraT ad
D. S\ STHIT - Wy IV. 91T %
19 frg g fasweqt & @ gt sacgfg:

[Question ID = 2549][Question Description = S3_qSNz_PG_ECO_Q69]

A-1V,B-1ll,C-1,D - Il [Option ID = 10193]
A-11,B-1ll,C-1,D - IV [Option ID = 10194]
A-1ll,B-1V, C-1,D - Il [Option ID = 10195]
A-1V,B-1,C-1ll, D - Il [Option ID = 10196]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D-Il[Option ID = 10193]

70) Match List | with List Il

List | List Il
A. Supply side of International Trade I. David Ricardo
B. Demand side of International Trade Il. Bastable and Alfred Marshall

C. Opportunity cost of International Tradelflll. G. Haberler
D. Real cost theory of International Trade |IV. Alfred Marshall and Edgeworth
Choose the correct answer from the options given below:

g -l FT gt -1l F R Fiivg

gt -l gt -l

A. Satiia srareHT g S oo I. 2Tz fearst

B. FTTT T ATIT HT AT Il. FTeeae S{T srews
C. ATUET AT AT ATAL ATTA . sft. g«

D. A< iT ATYTT %71 ATEafys AT IV. sewe ATe e ST
fraia el

A9 frg g fasweqt # @ gt sacgfg:
[Question ID = 2550][Question Description = S3_qSNz_PG_ECO_Q70]

1. A-1,B -1V, C-1I, D - Ill [Option ID = 10197]
2. A-1V,B-1,C-1l,D- Il [Option ID = 10198]
3. A-1,B-1V, C-lll, D- Il [Option ID = 10199]
4. A-1V,B-1,C-lll, D - Il [Option ID = 10200]

Correct Answer :-
e A-I,B-1IV,C-Il,D-Ill [Option ID = 10197]

71) Match List | with List Il

List | List Il

A. Canons of Taxation I. U. K. Hicks

B. Canons of Public Expenditure Il. Adam Smith

C. Effective Incidence of Tax lll. Findlay Shirras|
D. Benefit received approach of Public Expenditure|lV. Erik Lindahl

Choose the correct answer from the options given below:

g -l FT gt -1 F R Fiivg

gt -l gt -l

A. wTTETT 3 Rrgia I q. &, fg=a
B. grdwfas sw7 & fagia Il. Tew fRay
C. HT HT IATET I I, feea farore
D. grdsfa® =7 | WTH ATH FT gI¥H0 Iv. gfts fereTer

A= fegwrg faweat & @ gt saefAT:
[Question ID = 2551][Question Description = S3_qSNz_PG_ECO_Q71]

A-11,B -1, C-1,D- IV [Option ID = 10201]
A-1,B-1l,C-1ll, D - IV [Option ID = 10202]
A-11,B -1, C-1V, D - | [Option ID = 10203]
A-1V,B-1,C-II, D - Il [Option ID = 10204]

AW N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 10201]

72) Match List | with List Il

List | List Il
IA. Security Exchange Board of India (SEBI) 1. 1991




B. National Securities Depository Ltd (NSDL) 1. 1992

C. Credit Rating Information Service of India Ltd (CRISIL) 1. 1988
D. Investment Information and Credit Rating Agency of India (ICRA)[IV. 1996
Choose the correct answer from the options given below:

T -1 FT gt -1 F R Five

AT - = -l
A. RrFg i gemgas O @) 1. 1991
B. Faae faagfedis fraiforedt ™. (wa ga st wa) 1. 1992
C. af¥e faw dwrm e afdw sitw Efear for. (Brfae) . 1988
D. SFATTAT TFHTIA T UT & fee T g« st w Efeam (3 F7)IV. 1996

1= fegarg faweat & @ gt sqeAAT:

[Question ID = 2552][Question Description = S3_qSNz_PG_ECO_Q72]
A-1,B-1l,C-1ll,D- IV [Option ID = 10205]
A-1IV,B-1ll, C-1I, D - [Option ID = 10206]

1.
2.
3. A-llIl,B-1I,C-1V, D - [Option ID = 10207]
4. A-1l,B-1V,C-1ll,D -1 [Option ID = 10208]

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 10205]

73) Match List | with List Il

List | List Il

A. Adam Smith I. Theory of Big Push

B. R. Rodan Il. Traditional Society

C. W. W. Rostow lll. Reserve army of labour
D. Karl Marx IV. Division of labour

Choose the correct answer from the options given below:

A - FT gt -1 F gERi fifv

gt -l gt -l

A. TeT fRay I 72 a8 %7 Rrgia (=@ ats fow g
B. T, A Il IR9fF gaTs

C. Tsvq, Tseg Treara [l Afa+T £ sw<féra |ar

D. FTH ATFE IV. 577 fasrrsre

19 frg oy fFsweqr & € ggrsav AT
[Question ID = 2553][Question Description = S3_qSNz_PG_ECO_Q73]

A-1V,B-1,C-1l,D-Ill [Option ID = 10209]
A-1,B-1Il,C-1,D-IV[Option ID = 10210]
A-11,B-1l,C-1V,D-1[Option ID = 10211]
A-1,B-1V,C-1ll,D- Il [Option ID = 10212]

A W N -

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 10209]

74) Match List | with List Il

List | List Il

A. Conserving the Environment for benefit of the future generation I. Indirect use value
B. Search of Alternative fuels is necessary because traditional sources are non-renewablelll. Option Value

C. Wood from the forest is useful as timber lll. Bequest Value
D. Insects are important as they help in pollination IV. Use Value

Choose the correct answer from the options given below:

T - FT gt -1 F gRt fifve

T -l T -l
A. 3 FT TET B ITNT P g qafar F1EEw l. FATeTE
FETAT SAEINE S

B. =feu® SuT AT @I sMAeAT § FI 1T TRITE &1q
AT - FAHIO(TT TT ]
C. F9T & WTH AHET AT Th T & T & STAAT FraT

Il. fasey g7

. T€TaT 477

D. #¥= - Ta® wg<aqof § #AFF § 7w F wET F@ & V. STATHET




13 frg oy faswear & @ ggrsav AT
[Question ID = 2554][Question Description = S3_qSNz_PG_ECO_Q74]

A-1,B-1I,C-1ll, D - IV [Option ID = 10213]
A-1I,B-11,C-1V, D - [Option ID = 10214]
A-11,B-1V,C-1,D - lll [Option ID = 10215]
A-1l,B-1V, C-1I, D- I [Option ID = 10216]

A W N -

Correct Answer :-
e A-I,B-1l,C-Ill,D- IV [Option ID = 10213]

75) Match List | with List Il

List | List Il
A. NIRVIK I. A project directed to provide piped cooking gas to millions of households
B. Ayushman Bharat Il. A scheme to enhance energy efficiency

C. Pradhan Mantri Urja Ganga (PMUG) lll. Export credit insurance scheme

IV. Programme related to health issues in the primary, secondary and tertiary
sectors
Choose the correct answer from the options given below:

D. Perform, Achieve and Trade (PAT)

T - FT gt -1 F gEtw fifv

g -l gt -l
I ATET IICET T AT & GILT LE1S A TI0]
A, TT T AMTIT LR R NN
B. AISIATT WA Il. S=if Tqar gfE F37 F1 &
C. THTTHAT S T (Iﬁlll. faafa o T =iy
TH g )
D. fasaraq, wifa = Iv. wrafas, fedfias 7 gdias a7 9 waresq
BTaT (4 T 27%) e @ g9 F1dFT

A9 frg oy fasweqt # @ gt sacgfg:
[Question ID = 2555][Question Description = S3_qSNz_PG_ECO_Q75]

A-11,B-1II,C-1,D - IV [Option ID = 10217]
A-1ll,B-1V, C-1I, D - | [Option ID = 10218]
A-11,B-1V, C-1ll, D - | [Option ID = 10219]
A-1ll,B-1V, C-1,D - Il [Option ID = 10220]

A w N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 10217]

76) Arrange the following concepts of consumer behaviour in chronological order
A. Law of diminishing marginal utility

B. Law of demand

C. Revealed Preference Analysis

D. Indifference Curve Analysis

Choose the correct answer from the options given below

STHIHT AIEIR 1 FAAfiaa dFerarst F1 FTARATIAT AMTC :

A. graarT @rata Igarfar faaw

B. wiw =T fyaw

C. szrfeq af=ar frgwor

D. stafarwTa am fagwor

= fag 7y faswedt & & 9 ST HT 977 F™T ¢

[Question ID = 2556][Question Description = S3_qSNz_PG_ECO_Q76]

A, B, D, C [Option ID = 10221]
B, A, D, C [Option ID = 10222]
B, A, C, D [Option ID = 10223]
A, B, C, D [Option ID = 10224]

H

)

A w N =

» By

Correct Answer :-
e A, B, D, C[Option ID = 10221]



77) Arrange the following business cycles in ascending order in terms of their approximate duration.

A. Kondratiev cycle
B. Kitchin cycle

C. Jugular cycle

D. Kuznets cycle

Choose the correct answer from the options given below

rafafRes sraara IF1 w1 ITHRT AATRT aafer & agare A 7 § e .
A. FregTfaua 9%

B. frfara =%

C. [TAT IF

D. {SAEH IF

= fag 7y fawedt & & 9 ST HT 7 FIQ ¢

[Question ID = 2557][Question Description = S3_qSNz_PG_ECO_Q77]

C, B, A, D [Option ID = 10225]
B, C, D, A [Option ID = 10226]
A, C, B, D [Option ID = 10227]
D, A, C, B [Option ID = 10228]

)

’

A w N =

» Ay

Correct Answer :-
e C,B, A, D[Option ID = 10225]

78) ldentify the proper sequence in the traditional econometric methodology of conducting research

A. Data collection

B. Policy prescription

C. Testing of hypothesis

D. Formulation of hypothesis

Choose the correct answer from the options given below

are LT & qIRUTE wd fadiw vgfa 7 stya ww w1 ag=fag

A. AFSTETET

B. #fx - faafzor

C. gfeweqar &1 75T FIAT

D. wfxweaaT &7 fawfo

A= frg g faFeat # @ @t ITTHTIIT AT <

[Question ID = 2558][Question Description = S3_qSNz_PG_ECO_Q78]

1. D, A, B, C [Option ID = 10229]
2. A, D, B, C [Option ID = 10230]
3. D, A, C, B [Option ID = 10231]
4. A, B, C, D [Option ID = 10232]

)

» By

Correct Answer :-
e D, A, B, C[Option ID = 10229]

79) What is the CORRECT sequence of the following?
A. Uruguay Round

B. Kennedy Round

C. Doha Round

D. Geneva Round

Choose the correct answer from the options given below

fMasTafisaFa18 ?
A. STT AT
B. 33T 3R



C. BT T

D. 74T T

F= feg g fawedt & & 987 STTHT 77 F1{39Q ¢

[Question ID = 2559][Question Description = S3_qSNz_PG_ECO0_Q79]

D, B, A, C [Option ID = 10233]
B, D, C, A [Option ID = 10234]
. A, B, C, D [Option ID = 10235]
C, A, B, D [Option ID = 10236]

)

A wWwN -

» Ry

Correct Answer :-

e D, B, A, C[Option ID = 10233]

80) Arrange the introduction of the following taxes in India in chronological order.
A. Service Tax

B. Income Tax

C. Banking Transaction Tax

D. Gift Tax

E. Goods and Services Tax

Choose the correct answer from the options given below

1T # fraferfag &30 31 gIardg 1 STERATa qafeaa F1T :

A. 9T FT

B. STAFT

C. THT =TT HT

D. STETT HT

E. TS AT AT FT

A9 frg g fasea & & 9 swTHT 937 fAfvrw:

[Question ID = 2560][Question Description = S3_qSNz_PG_ECO_Q80]

A, C, E [Option ID = 10237]
C, E, D [Option ID = 10238]
A, D, E [Option ID = 10239]
A, C, E [Option ID = 10240]

’

AN wN -

)
Correct Answer :-

e B, D, A, C, E [Option ID = 10237]

81) Arrange the following committees appointed for the Banking sector in India in chronological order:
A. Urjit Patel Committee

B. Goiporia Committee

C. Narasimham Committee-1

D. Chakravarty Committee

Choose the correct answer from the options given below

NTq § & &9 3 fou wfsq fawtafag afafaat 1 srasarga sgaftag Fiivg
A. 35T wea wfafy

B. wrzgfear afufa

C. azfgw afufy - |

D. IFadl afufy

Fr= T g fawedi & § 987 ST FT 97 FI9Q :

[Question ID = 2561][Question Description = S3_qSNz_PG_ECO_Q81]

D, C, B, A [Option ID = 10241]
A, C, D, B [Option ID = 10242]
C, B, D, A [Option ID = 10243]
D, B, C, A [Option ID = 10244]

A W N -

» By



Correct Answer :-
e D, C, B, A[Option ID = 10241]

82) Arrange the following in chronological order in which they were introduced:
A. SDGs

B. MPI

C. PQLI

D. HDI

Choose the correct answer from the options given below

frafafaa 1378 T | A F FIAFATIIT AT

A. T Y st

B. T 9t s

C. ftFg ua g

D. T Tt s

= fro e faseat 7 9 gt ITNTHT 77T MAT ¢

[Question ID = 2562][Question Description = S3_qSNz_PG_ECO_Q82]

D, C, A, B [Option ID = 10245]
C, D, B, A [Option ID = 10246]
C, B, A, D [Option ID = 10247]
D, C, B, A [Option ID = 10248]

A W N -

)

Correct Answer :-
e D, C, A, B [Option ID = 10245]

83) Arrange the following United Nations Framework Convention on Climate Change (UNFCCC) conferences in chronological
order

A. Copenhagen Conference
B. Doha Conference

C. Paris Conference

D. Katowice Conference

Choose the correct answer from the options given below

FAATY INEET I HLT Y T BqAGSH $a99 (T TT TH 41 a7 97) fraforfaa araaat 1 srasaqga qafag F17
A. FRAZAT GERAT

B. IIgT aFA AT

C. afxw gvd e

D. FTEATTH FATT

Fr= frT g fawedi § & 987 ST HT 97 FI{9Q ¢

[Question ID = 2563][Question Description = S3_qSNz_PG_ECO_Q83]

B, C, D, A [Option ID = 10249]
D, C, B, A [Option ID = 10250]
. A, B, C, D [Option ID = 10251]
C, D, B, A [Option ID = 10252]

A W N -

’

Correct Answer :-
e B, C, D, A [Option ID = 10249]

84) Consider some of the schemes/programs introduced by the Government of India to enhance agriculture productivity
and farmer's income. Arrange them in chronological order of their appearance.

A. Soil Health Card Scheme

B. Kisan Credit Card Scheme

C. Pradhan Mantri Fasal Bima Yojana
D. Doubling Farmers' income program

Choose the correct answer from the options given below



F Y Searawar T frarai #1 sna ® g5 7@ 3 97 w91eg aTwm g aiw 1 7 eh+qt / ardwat 9 A fiite s sTw
AT 3T AT B FTABATIHTS ATT

A. T TJTEET FTE JIFAT

B. frara # e w1 e+

C. YaTAH A waa 7T FrSTaT

D. fraTY #T s FY TIAT HIA FT FTAFHA

1= feg g faweat & & ot ST HT 977 FfIT

[Question ID = 2564][Question Description = S3_qSNz_PG_ECO_Q84]

B, C, D [Option ID = 10253]
A, C, D [Option ID = 10254]
, C, A, D [Option ID = 10255]
A, D

1
2
3.
4 , C [Option ID = 10256]

Correct Answer :-
e A, B, C, D [Option ID = 10253]

85) Arrange the following Committees of poverty estimation in chronological order:
A. Alagh Committee

B. Lakdawala Committee

C. Tendulkar Committee

D. Rangarajan Committee

Choose the correct answer from the options given below

fadfaar srewa &1 fawfafaa afafaat €1 sasarga s :

A. stwa gfafy

B. w&eTaTAT AfAfa

C. Igmwx wfafa

D. Lrarere afwfa

A9 frg g faseq & & 9 sATHT 977 A0 :

[Question ID = 2565][Question Description = S3_qSNz_PG_ECO_Q85]

B, C, D [Option ID = 10257]
C, B, D [Option ID = 10258]
, C, A, D [Option ID = 10259]
A, C, D [Option ID = 10260]

AW N =

Correct Answer :-
e A, B, C, D [Option ID = 10257]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A lumpsum tax imposed on a monopolist cannot be shifted to the consumers.
Reason R: The lumpsum tax becomes a part of his fixed cost and it does not affect the marginal cost of production.

In light of the above statements, choose the most appropriate answer from the options given below

A T FITRTCATE : TF AT9FI7 (A) 3 T7R YT T @I ITH FXU(R) F TR ¢

FfHFIT (A) : THITAFTATE 7T AMOTIT THALT FFT ITATHTA I FIT T Far AT aswvar 8

HTI (R) : THALT FT ITST Mot Arora %7 fHeqr g7 a6q71 § T I ITUTIT 1 HARTT AT7T F7T T9774T FLAT
SYUT FIAT B AT A, A9 f¥T 17 fAweqi & § 999 STLF ST FT AT F197 ¢

[Question ID = 2566][Question Description = S3_qSNz_PG_ECO_Q86]

1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) Z4T @&l & ¥ (R), (A) FT "1 ==m@ar € [Option ID = 10261]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T #=T & 79 (R), (A) FT Tgr =xmear 91 & [Option ID = 10262]
3. Alis correct but R is not correct/(A) 5l § weeq (R) @&l &f & [Option ID = 10263]
4. Ais not correct but R is correct/(A) Ha T2 g 9%=q (R) @t & [Option ID = 10264]

Correct Answer :-



e Both A and R are correct and R is the correct explanation of A/(A) ¥ (R) T @&l & ¥ (R), (A) T @&t =41=471 § [Option ID = 10261]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There is no incentive for a profit maximising producer to supply public goods
Reason R: If he produces it, he is unable to exclude people from consuming it and hence he cannot charge a price

In light of the above statements, choose the most appropriate answer from the options given below

A Y waTfraw : uF AfwaT (A) P 7R fqfaa g 97 @ Ia@ F1r (R) F €I4R ¢
FfwFHaT (A) : AT FY ATYFTH TR aTR STUTIF P Forg Ardwfas geqgat g w7 Nrearga agt @

FTI (R) : TFZ T TAFT ITUTIT FIAT &, T AT FT ITHT STHIT FLA @ FIESHA A 0 AqAF g AT I@IAQ ag o7 q1fya
A FLAFATE

STUT ®IAT  srAls /@, A9 fEg v frweq § @ 999 STLH ST FT IIT F197 ¢
[Question ID = 2567][Question Description = S3_qSNz_PG_ECO_Q87]

1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) Z¥T @&T & ¥ (R), (A) T "1 =9m=a7 § [Option ID = 10265]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T @2l & 931 (R), (A) FT @&t =xmear 981 & [Option ID = 10266]
3. Afs correct but R is not correct/(A) @&t g 7] (R) @&t 75l & [Option ID = 10267]

4. Ais not correct but R is correct/(A) H=r 9=t g 9%=q (R) @&t & [Option ID = 10268]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3i (R) 9l &&T & 3T (R), (A) #¥ #&r =1=a7 & [Option ID = 10265]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: New capital accumulation is the vehicle of technical progress
Reason R: Technical progress is embodied in new machines

In light of the above statements, choose the correct answer from the options given below

A T FITfRTTCE : TF ATFIT (A) B TUR AT & T @O ITR FCU(R) F €TH ¢
FfFHaT (A) : T ¢S FIIT TRAVHT HTATEH §

HTIW (R) : gt wafy 94T wefi=t § afafga dr g

STUT ®IAT B ardls &, A9 fag 1y Fweqt § @ 999 STLH ST HT 77T F1907 ¢
[Question ID = 2568][Question Description = S3_qSNz_PG_ECO_Q88]

Both A and R are true and R is the correct explanation of A/ (A) #iT (R) 3T @ & 37T (R), (A) &1 @& ==t & [Option ID = 10269]

Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) =1 77 &, @ (R), (A) T @gT =am=aT 921 g [Option ID = 10270]
Ais true but R is false/(A) 17 g, “f%+ (R) srEeT & [Option ID = 10271]

Ais false but R is true/(A) s g, % (R) ¥ & [Option ID = 10272]

A w N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3% (R) 319 <7 § &Y (R), (A) & &1 =@m@ar & [Option ID = 10269]

89) Given below are two statements:

Statement I: Social Welfare Function (SWF) is a sort of social indifference map consisting of the Social Indifference Curves
(SICs) which shows the various combination of utilities that gives the same level of social welfare (SW).

Statement ll: Social Indifference Curves (SICs) may not be convex or concave to the origin

In light of the above statements, choose the most appropriate answer from the options given below

fa T FgT T :

FYT - | : AT FTATT GAT (TH TS TH) TH TR FT ATATINF ATTATT ATA™NA § f9H €F G977 € F7TAIANF FA70
(TH T5eq) T_TA FL arat Fafsar dasrat w1 qaqfq a1 qrarhors stafaara 9% (qa ) 2

FI7 - 11 : GrATRE FAfaara 9% Soafv @ ITa IT a7 T80 &1 % @
STUF FIAT D AqaATH A, 2 X 7T AFT | | G99 STLH ST HT AT FIHNC ¢
[Question ID = 2569][Question Description = S3_qSNz_PG_ECO_Q89]

Both Statement | and Statement Il are correct/®=+ | i< || Tt @&l € [Option ID = 10273]

Both Statement Il and Statement Il are incorrect/®= | 3 |l ZT41 T@d & [Option ID = 10274]
Statement | is correct but Statement Il is incorrect/#=« | #&l €, f3eq 4+ || 7@ g [Option ID = 10275]
Statement | is incorrect but Statement Il is correct/®%¥ | T7q g, foeq #a= || 7&r & [Option ID = 10276]

A W N -



Correct Answer :-
e Both Statement | and Statement Il are correct/= | 3fi% || 1=t @&l & [Option ID = 10273]

90) Given below are two statements:

Statement [: One of the assumptions under OLS method states that the regression model is linear in the parameters, though
it may or may not be linear in the variables.

Statement Il: The variance of the error, or disturbance, term is not the same regardless of the value of the explanatory
variable under OLS.

In light of the above statements, choose the most appropriate answer from the options given below

=7 v saTfrered:

FAT - | : & v vd 3y 3 siqeda s gFamom a5 § 5% aaraan gied dordtet § s § aafv a3 & ag s agdi @t g
qFATE

FIT- 1l : 3 TT QT F FTAT T FIX a7 I KT LT FF W1 &1, T F1 77707 srorar e w a3 ¢F aATT g7 8
SYUT FIAT B AT A, A9 f¥T 7T fAFe1 & | 999 STLT ST FT TIT F19(T
[Question ID = 2570][Question Description = S3_qSNz_PG_ECO_Q90]

1. Both statement | and statement l are correct/#= | &fi¥ || FT @21 & [Option ID = 10277]

2. Both statement | and statement Ll are incorrect/®2< | 3ii¥ |l =M1 Tq & [Option ID = 10278]

3. Statement L is correct but statement [l is incorrect/®+ | @2T & , foeq 2+ |l 7@ € [Option ID = 10279]
4. Statement L is incorrect but statement Ul is correct/®= | 17 g, foeq F27 Il T T [Option ID = 10280]

Correct Answer :-
e Both statement | and statement Il are correct/®=+ | 3% || =i =l & [Option ID = 10277]

Topic:- Economics_SHAAN_NOV21B

1) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa i F1 afe sz s g srarfig vt % ST Afvg :

"1 arirdY STaa it U UHiEr i w T 99 TaaaFR 4 3 A1 ofif = srewgst & wred ® forg wifgs A fy wreefdar
FTTF GAFHTH TATAT TAT § AT FERTehia weararst & Readweor & graffar @t gfasr at siw fr a8 swgafas afcors qafa
g % 2016 # Tv7 TRTEHITT A& (THIMELT) FT T 1L FHT IR F 777 @ A7 qeafdaT 3 sta & areqq 9 ageaqor gf5 g @
ardt, srgwias arew STq w3at § 1% gafgare amaars Tt s ofieat<t #71 gRresdhiia T1ame Thaser & 975 #1 A9 (T §
FASTIT ET A AT AT F=fy afead 1 v afvard €7 7 garedifa ag @ta1 & Siaeagi o7 G a0 519 [2014 F
TATOTT AFefI T T8 (TATS) AT T CHAES T T 1T FHT IR & q77 | $ AU areafas garedifa a wearamd
AT ALY AT g Tt Fradt ofeofa 7@ =9 0@ gF1eas dda q g8 GFAT qd F1 Ay F QAT I GEOE AR
TET ATIRAT AT, TATATE AT, A% IFIT T I Tgt, af¥ag v @ Ry o

Which time span has been described as the transition period of monetary policy?

faafafaa 9 @ g srarafa w1 aifes Al sTaFa0 FTAa FETTATR ¢
[Question ID = 198][Question Description = S3_qSNz_PG_ECO_Q91]

2014-2016/2014-2016 [Option ID = 789]
2016-2020/2016-2020 [Option ID = 790]
2000-2014/2000-2014 [Option ID = 791]
2008-2014/2008-2014 [Option ID = 792]

A w N =

Correct Answer :-
e 2014-2016/2014-2016 [Option ID = 789]



2) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

refafaa et F7 afev sz s gL srarfeg w31 % ST dhifvw :

AT aTiaET STaq T U UFTT % ST a9 TFaa FS 9 39 3 AT efio s Aeqqw § w1q & o 7yfas rfa areafdar
FTUF GAFTH TATAT TAT § T FETedhia seararst & Radweor & yreffar #t qfasr St sia fr a1 g swgwfas oo qafa
g % 2016 ® 7 garehitfa wex (THeMEET) FT w11 forg 17 F 972 & A7 q1eafdar # sta & areqaq & qgeaqar gfa g @
ardr, srawias arey 3rq w31 & O gafqars aamara e st ofar< #1 garedtfa wearamd tharsdt & a1 #71 qafay &
FATIT ET A RIT AT F=fy afeamd 1 v afvard €7 7 garedify ag @a1 & Siae a8l o7 gwaow 719 [2014 F
TATATIT ATEHRITIFT TZTT (TATTS) AT AT THATSET FT € 1H1X {HTATH & 77 | 3 AT qreaftasw garediio a wearard
AT TS AT g Tt Foraat ooy 3@ = F a1 s G g | g3 GHAT I 61 AT & 1T T CETE TATERITA
qE FIARAT FT, TATATTC #Y, FUF IFAL T I T q, agfaa &q & R o

What happened to the anchoring of inflation expectations?
HETERITT weararrst & Radawor () w1Fa71 590 ?

[Question ID = 199][Question Description = S3_qSNz_PG_ECO0_Q92]

1. Inflation expectations anchored in a strong form/HgTehIfa TeTeTd Tor<h &7 # {227 g2 [Option ID = 793]

2. Inflation expectations anchored in a weak-form in the post FIT period. /T a1 1 % a1g #it srafer § qerefifa yeamemd w@siv w7 § 2w g2 [Option ID =
794]

3. There was no association between realised and expected inflation/aTeafa i SeaTfara qarehifa & A daer 7! = [Option ID = 795]

4. There was a negative association between realised and expected inflation/s & # < 7 weaTfarg qeehifa & swormes == =1 [Option ID = 796]

Correct Answer :-
e Inflation expectations anchored in a strong form/HaTefifar sreamermd Fors =7 § & g€ [Option ID = 793]

3) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et F71 afew sz a9 g srarfig vt 3 It :

"HTiwed arierdy Sraaidt ve Ui i w T 99 TaaaFe 4 39 A1 of it srewgs & wrea # forg wifas A fa wreefdar
FTTF GAFTH TATIT TAT § AT LRTERT TeTamslt & Radweor & grefdar 1 qfasr ar siw Fr 7§ 8 swgwfas ooy qafa
g % 2016 & T¥7 TRTEHITT T&T (THIAMELT) FT T FHT AR F 777 & A7 qeafdaT 3 sta & areq9 9 ageaqot gf5 g |
ardt, swgwias arew STq w3ar § 0% gafgar amaars daast s ofieat<t #71 gRrediia Ta1ame THaser & 75 #1 A9 (a9 §
FASIT ET A R AT T2y i@ 1 TATeTe afvard €9 F arehita 9g dTa1 & STaTagl 97 GFa0 &1 [2014 §
TATOTT raedft AT TgT9 (TAT5S) ATH T CHAES 77 T iw1e FHT IR & 977 | $ A0 areafas garediia a wearamd
AT ALY AT g Tt Fadt afeofa @@ =9 uF gFreas ddg q g5 GFAT g F1 Ay F QAT I GEIOE AR
TET ATIRAT AT, TATATE AT, Fq%F ISYAT T I & Tgt, auf>a v @ Ry o

Which of the following index has been constructed?
Mafafra 8 & $17 97 gIHiF FATATTATR ?

[Question ID = 200][Question Description = S3_qSNz_PG_EC0_Q93]

Index of monetary policy /s #ifa f==i= [Option ID = 797]

Index of inflation expectations/HaTEHIf TeaTerT gt [Option ID = 798]

Index monetary policy transparency for India/#Ted & forw #tfee i wreafdar g==i= [Option ID = 799]
Index of transparency/aTZafaT g=rai= [Option ID = 800]

A W N -



Correct Answer :-
o Index of monetary policy/#Tfse =1 g==i= [Option ID = 797]

4) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et £1 afe sz s g srarfig vt % ISt :

"HTied arirdY STaa it U UHiar i w T 99 TaaaFR 4 3 A1 of il srewgst & wrea 3 forg wifas A fy wreefdar
FTTF GAFHTH TATAT TAT § AT FERTehia weararst & Readweor & graffar @t gfasr at siw fr a$ @ swgafas oo qaifa
g % 2016 # Tv7 TRTEHRITT A& (THIMELT) FT T TF1L FHT IR F 777 @ A7 qeafdaT 3 sta & areqq 9 ageaqor gf5 g @
ardt, srgwias arew Sq F3at § 1% gafgare amars Tt s ofiat<t #71 gRredhiia Ta1ame Thaser & 975 #1 A9 (g 7
FASTIT ET A AT AT Tty afead 1w afvard €7 7 garedifa ag @ta1 & Siaeagi a7 G5aw 519 [2014 F
TATOTT AqefI T T8T9 (TATS) AT T THAEE T T w1T FHT IR & q77 | $ AU areafas garediia a wearamd
AT ALY AT g AT Fradt ofeofa @@ =9 ¢F gF1eas dda q g8 GFAT qd F1 Ay F QAT I GEIE AR
TET ATIRAT AT, TATATE AT, % IFIT T I Tt af¥ag v @ R o

What has empirical evidence shown?

afafeg 9 @ a1 argafes arg safarTar g ?

[Question ID = 201][Question Description = S3_qSNz_PG_EC0O_Q94]

1. Degree of policy transparency declined/={Tr areafsar & sier # fiwrae ss & [Option ID = 801]

2. Degree of policy transparency increased/=1f areafédiar & sfer & gf5 g5 & [Option ID = 802]

3. Degree of policy transparency increased but after coming into force of FIT./ffq waffar # st F gfz g &, W TR M A F AR e & a2
[Option ID = 803]

4. Actual inflation turned out to be high/aTeafa® qarefifa 3 W& & [Option ID = 804]

Correct Answer :-
e Degree of policy transparency declined/=1far areafstar & sier & fierae s & [Option ID = 801]

5) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

frafrfaa meria w7 afgw sz sw gz swarfeg vt & savdifvo .

"ATfAed arfEt STaaET U UHIT e TR a9 TFa g 39 2 Ar ofidw qewww F wiww ® fow Avfus iy areafdar
HT TH IABTH TA7IT AT & HT Larediia weararst & Radmyon & qreafdfar @ gisr A stig sy 7 g srgwirs afcors qofa
& % 2016 & 777 YaTeRIfy e (THaEY) F1 w1 frg a3 F a7 @ Ay Teaffiar @ da 7 qreqa @ ageaqot iz g e
ardr, s wias arew 31rq F3a1 & FF gafqars aamaara agra i< afar<t #1 garedtfa searamd gwarsdy & a1 #1 qafay &
FATIT ET A R AT Ty afeardt #1 wearard safvard w9 9 garedifa ag @a1 @ Facadd oF 770 F19[2014 F
TATUTIT ATEHRITIRT TZTT (TATES) ATH ST TRAEET FT TF 11X {HTATR & 77 | F AT qreaftas garediio T wearard
AT AT AT g AT ForEdr afiorfy g7 7 ¢F qFIIeAF ddg 7 g GFAT g F1 AT F QA I GEIE GATERITT
TET ALARAT AT, TITATT HT, FqF IFAL €A I T T, 7 &7 § R o«

Inflation expectations of which group was empirically tested?

frafafea & @ fea g9z ¥ garedify weararsit w1 srgafas ahew a7 ?



[Question ID = 202][Question Description = S3_qSNz_PG_ECO_Q95]
1. Only of professional forecasters/#a qATTHIT RIT7 AT 4971 FT [Option ID = 805]
2. Only of Households/&aer 7ft=m< T [Option ID = 806]
3. Both of professional forecasters and Households/qafe®T @1+ aTer 99w 3T qfvari 2t 71 [Option 1D = 807]
4. Neither of professional forecasters nor Households/d TaTqATH @I aTer F2rai 7 3T 7 &1 7far<t &7 [Option ID = 808]

Correct Answer :-

® Only of professional forecasters/#a@ TATIATT @TH a1 J2ra< 7 [Option ID = 805]

Topic:- Economics_SHAAN_NOV21C

1) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

Frafafag g 7 saYE® T8F & T T4 F ST I ¢

GIFT FTTH qH ST NTAF FEATHHT FT TTHT GTAAT FIAT § I ©§ (AL STNT ATAT TS IHHT ATAAT R T3 ForeT Trg & 1w
FFeY aeq & GENTH TATTHS ATAT &1 AFHAT §, TG ATH B ANTT § T ITUTT FY ATLETHF FH ATAT FS 9o 98 AT
gaafay Rt afosrl &1 awaargd® garaar 7@ FTArar g GE@or B g frg - ST ATAT IF AET R I T9H 9
HEAY AT #T MALTFHAT &

agaT, YAt a% fasradta gl & fag sfers w1 7 #w3a g1 guw, aqua ag faar g1 g O afs g aredgo 2 frarvarar
¥ STAT FIST EIATR AT, T AT AIHW AATT Lo B TT R AT HATAFAT §, ITT TEAT AW T I FT FALT
STITET TS -ARTAAT IFT AT ITAFATE TAHT FTLT TG & 156 T THL B fIq@ R Fwaor w7 faAg I=T #7 Ieae Ieara
T - gTaar A€ Frgs R A7 @ € T FTA1 IRT 19 g STITIT U - TEraavr # 71 ATqF weae €7 § AT 38 a0 ATT L
FT AT A ATAH AATAT 8 GETATATAFAT g SgaL AT a5 g1 {36 SATT HT TAE TS - AFTAAT T ATY IHT THIC a1
AATHT FT T+ IAqTA FRATHFATAT FT gATATIRT IR F AT o7 @ IGIAT TTRH FIGIMT FF11% T F AT I T ITHIT FT
freqw aft ®zar @

Which is the most appropriate instrument of trade protection?
FTITT WIAT FT TR ITLH ATHT FIT - T8 ?

[Question ID = 203][Question Description = S3_qSNz_PG_ECO_Q96]
1. Import tariff/smaTa 0= [Option ID = 809]

2. Export tariff/ff=fa == [Option ID = 810]

3. Non-tariff barriers/¥ - g[= wfaawr [Option ID = 811]

4. Production subsidy/3caTes T1<T - @gaT [Option ID = 812]

Correct Answer :-
e |mport tariff/smaTa ¢eF [Option ID = 809]

2) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

fafafag Teia #7 ea@yEs 729 @@ TT I # ST :



WIGHT FTTH TS AT AMTTF GEATOAFT FT STHT ATAAT FIAT & 98 & (AL STVNT ITAT TS THFT ATAAT & 5% FFATT7g 3 9719
et aeq & GEATSH AT ATAT BT AFAT R, T ATA & ATTT | T STATT T ATIEHTF FF ATAT F% A7 a8 SATT
gafRay Rt 7fostl &1 awaard® gRraAr 7@ FT AT G0 B g fAg - ST ATAT IF GET § T T9H S
HEAYO aqT #T MALTFHAT &

TgaT, YT a% fasrasdta gl & fag safdrs w1 7 w3 gF guT, aqua ag faar g g B afs s aredgo 2 frarrarar
S® 1T F{57 graT g STaT, T AT AIH AATT Lo B T R AT AT AFAT ¢, ITT FZAC W F¥Y ST FT GATeT
STITET TS -HETAAT IFT AT AT AFATE TAHT FTLT TE § % T8 TH1X 3 fIqg o Frwaw 71 fag =T #7 Ieae Ieara
TS - FETIAAT AT FIqE R 17 & g1 g AT A1RT a1 T ITATIT ST - TETAAT FT ATHAF T 7 § 3T T/ AATH LF
FT AT A ATF AT | GEIAT AT AFATE SEAT AT a5 GUoft F3 ITTTFT T0q& TS - AETAAT T ATY AT THTIC g
AATHT T =7 IAATA THATHATIT T GATATIRA A TN Lo & TGTTTAG HTGIAT FI1 16 T HT ATTL TIT AT ITFT HT
g agf AT g

Developing countries are characterised by:

a3t & fAfrzar it g -

[Question ID = 204][Question Description = S3_qSNz_PG_ECO_Q97]

1. Absence of both money markets and capital markets/¥aT aTSIT1 ST ST STSITT 2141 7 sqafeafa [Option ID = 813]
2. Improper functioning of the capital markets/dsft aTsTe1 #T 21 & T4 7 %77 [Option ID = 814]

3. Improper functioning of money markets/¥aT STSITZ} T &1 & F14 7 AT [Option ID = 815]

4. Absence of capital markets/dsiT aTsiTt T srqafeafa [Option ID = 816]

Correct Answer :-

e Absence of both money markets and capital markets/HsT aTSTel S YSft TSI T AT safeafa [Option ID = 813]

3) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

Freafafaa Teria 1 sa s T2H @ TT I/ 3 ST AT ¢

HIHTHT TH qd J1 ATTF GEATOAFT FT STHT ATATT FIAT @ 9 @ AL ITNT I1AT % gGHT ATAAT 8 3% Fpadr g & aryw
et aeq # TEATH qATTHS AIAT T GHAT §, TG ATA D AATT A AT ITATT HT TXEHAF HH ATAT HS 998 98 SATTA
gEafRay fae et 7fasTal &1 awaargd® gHrasAr g FT 1T g @ B @ fAg - ST ATAT IF AET R UG T9H F%
AECAYU AT #T MALTFHAT &

TEaT, TAT aF fawradta gl & fre sfers w14 7 w39 7 g9, aque a8 fTar g7 § O afs s aredgn 2 frarvarar
9 STAT FIST EIATR AT, T AT GG AATT Lo¢F B T | AT T IAFAT §, ITT TZAC G T I FT FATA
ITTET TS -HFTAAT IFT AT AT AFATE TAHT FILT TG § 56 T THL F FAq@ R FrEqw w71 faAg I=T #7 aeqe IearaT
T - GETAar Kt fagg e AT & € g FAT I1feY F19 & STUTIA TS - FGTAAT FT ATAF We7q €9 ¢ AT I/ AT Lod
FT AT H Af&F rATHT A GITAT AT AFATR SgAC AT g 19T £ ITTT /T wegay TS - agrAAT ¥ A0Y IHY THTT AT
AATHT FT T=7 IAATA THATHATI FT gAIATIRT H & AT QLo @ ST AAH FT EINT FH11%0 T FT ATTE AT ST STHIT & 7T
g Tt FaT

The obstacles for an industry to compete with more established foreign firms are due to:

geariia g et wfastal @ garaar #37 & AT ST F1 767 X0 F I197T AT 8 ?

[Question ID = 205][Question Description = S3_qSNz_PG_ECO_Q98]

1. Lack of know-how and initial small level of output/sTT =T 79T 3% IcaTe T TR %7 ATAT [Option ID = 817]
2. Lack of flexibility/@=freraw =T er9mar [Option ID = 818]

3. Lack of markets/aTsI<i &7 37377 [Option ID = 819]

4. Lack of human resources/dT= HATLAT T AT [Option ID = 820]

Correct Answer :-
e Lack of know-how and initial small level of output /=TT FT ST T Ieqre HT TEIHF w7 ATAT [Option ID = 817]

4) Read the given passage and answer the questions that follow



One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

faafafeg meria #1 eamyds qg9 @@ T i & Sacdfvw

HIHT KT TH Td 1 ATHF GEAITOAFT FT STHT ATATT FIAT @ 9 @ (AL STNT I1AT % gGHRT ATAAT & 3% AT g & aryw
et aeg # TEATH qATHSF AIAT &1 GHAT §, TG ATA D AATT A T STATT FT TIXEHAF HH ATAT HE 99 g SATTA
ety faedt 7fasTa 1 awaargd® gHRTaAr TG FTI0ATE GG B 7 AL - SAA ATAT IF TET § UG T F
HECAYT ATT HT AAITFAT &

IgaT, YT a% fawradta g # e sfers w14 7 F30 g7 g9, aqa a8 fTar g § O afs us aredgw 2 frarwarar
9 STAT FIST EIATR FTFL, T AT GG AATT Lo¢F B T | AT T IAFHAT 8, ITF TZAC G T I FT FALST
STYTEA TS -GETAAT IF FRATIATAFATE TAFT FTIV A & T 37 791X 3 FAgr@ wq Frsqor #7 gy ST 11 voaeq Iaarea
TS - FgTAar A frgg R AT @ € g FTAT1 A1RY a1 §F STUTIT U - TETAAT FT ATAF a8 €7 § T T8 AT Lok
F1 AT A afyrs At ¥ gEraT AT AT S SgAC AT a8 Froft 3 ITT FT Teqe TS - TETAAT ST AT AT THIC A1
AATHT FT 7 AT FHATHFATHT FT FATCATIRT FIF F AT L7 & TETTTCAH FT AT FI11F T FT ATXL LAT AT ITAT 7T
ffreqw FEt FTaT §

Which of the following is effective in preventing external diseconomies

Freafafaa d @ F17 - U I7g AATHT FT AFA A TATAT QATR ?
[Question ID = 206][Question Description = S3_qSNz_PG_ECO_Q99]

1. Trade policies/zamam ife=rt [Option ID = 821]

2. Production subsidies/3caTas TS - Ag&dT [Option ID = 822]
3. Adirect tax/9e@er # [Option ID = 823]

4. Tariff/g=F [Option ID = 824]

Correct Answer :-
e Trade policies/=ma= 1fa=T [Option ID = 821]

5) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

fafafag Teaia #7 ea@yEs 729 @@ TT I # SAC AT :

HIHTHTTH TH 1 ATTF GEATOAFT FT STHT ATAAT FIAT & 9 ¢ (AL STNT I1AT % gGHRT ATAAT & 7% AT Trg & a1y
et aeg # TEATH qATTHSF FIAT &1 GFHAT §, TG ATA D AATT A M STATT HT TIXEHAF HH ATAT HE I I8 SATTA
gafRay fre et 7fasta 1 awaargd® gHradr g7 FTI0ATE @0 B 7 AL - STT ATAT IF FET | UG T F%
HAEALT T AT MALTFAT &

TEAT, TAT qF fawraets P & g aftrs 514 7 F30 g @, aq9a a8 fRar g1 8 FF afy vs arrdwau  frarTarar
I8 GETAT FIST Erar g dTaIT, ST ATYT AT AIATT LFF @ €T F (QATATAFAT &, STT SgTC G &0 FRAY ST FT a9
STITE U -HETAAT AFL RAT AT AFATE THHT FTLU g § % T8 T 3 fagrg oo Freqor =71 fargg g=n &7 gcae Icara
TS - FgTaar HH frgg R AT @ € gr wTAr Frfge ara € Surad U - Ggraar &1 Af¥® 78 €9 § T g8 ara7q eh
FT AT A AfF AT F GEIAT AT IAFATE SEAC ATTT a8 Groft £ ITTT T Teqe TS - TETAAT T AT AT THIT TG
AATHT FT 7 AT FHATHFATIT FT FATCATIRT FIT F FAT L7 & TETTTCAH FEINT FIT1F T FT ATXL LAT AT ITATT FT
freqw At FaT g



Which of the following is a direct aid to domestic industry?

faafafeg 9 @ #17 - @ oo ST F1 a7 GETIarg ?

[Question ID = 207][Question Description = S3_qSNz_PG_EC0_Q100]
1. Import controls/#maTa f5==rr [Option ID = 825]

2. Import quota/3maTa #TeT [Option ID = 826]

3. Production subsidy/3eqTa T - Hg@dr [Option ID = 827]

4. Patent rights/¥2= & «1farsTe [Option ID = 828]

Correct Answer :-
e Import controls/#maTa f==r [Option ID = 825]





